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Question Id : 68634045463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group

Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time. and improving technology. the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634045464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb
2. mute
3. muffled
4, silent

Options :

686340179601. 1

686340179602. 2

686340179603. 3
686340179604. 4

Question Number : 2 Question Id : 68634045465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340179605. 1
686340179606. 2
686340179607. 3
686340179608. 4



Question Number : 3 Question Id : 68634045466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing
4. filming/developing
Options :
6863401796009. 1
686340179610. 2

686340179611. 3
686340179612. 4

Question Number : 4 Question Id : 68634045467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
The of the soundtrack to the action m the film revolutionized the process of film making.
1. stitching
2. synchronization
3. adhermng
4. business
Options :
686340179613. 1
686340179614. 2

686340179615. 3
686340179616. 4

Question Number : 5 Question Id : 68634045468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
What 1s the main idea of the passage?
1. Film making is an easy job.
2. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtracl.

Options :



686340179617. 1
686340179618. 2
686340179619. 3
686340179620. 4

Question Id : 68634045463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology, the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634045464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Movies that had no sound were called movies
1. dumb
2. mute
3. mufiled
4, silent

Options :

686340179601. 1
686340179602. 2
686340179603. 3
686340179604. 4

Question Number : 2 Question Id : 68634045465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The acceptance of colour movies was a little slow compared to the

1. simileys

| B

. selfies
3. besties
4, talkies

Options :

686340179605. 1
686340179606. 2
686340179607. 3
686340179608. 4

Question Number : 3 Question Id : 68634045466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing

| B

. reviewing/developing

Lad

. filming / processing
4. filming/developing

Options :

686340179609. 1
686340179610. 2
686340179611. 3
686340179612. 4

Question Number : 4 Question Id : 68634045467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340179613. 1
686340179614. 2
686340179615. 3



686340179616. 4

Question Number : 5 Question Id : 68634045468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340179617. 1
686340179618. 2
686340179619. 3
686340179620. 4

Question Id : 68634045463 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None Response Time : N.A Think Time
: N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Before the 1920s. film used to be silent with just the action on the scene along with subtitles. Come the decade
of 1920 and the advent of new technology. the filmmakers had the possibility to synchronise a soundtrack with
the action on the screen. This included dialogues. musical score and special effects. After this development.
the movies were called talkies since the audience was able to hear the actors talk with each other. There was no
stopping from then on and the next significant development was the introduction of colour. However. colour
movies were somewhat slow to catch on. especially when compared to the addition of sound to the movie.
Another reason for this slow acceptance of colour was the considerable developing and processing cost it
entailed. With passing of time, and improving technology, the colour processing became as affordable as
black-and-white films. More and more movies were filmed in colour to a point when the film makers did away
with black-and-white films.

Sub questions

Question Number : 1 Question Id : 68634045464 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Movies that had no sound were called movies

1. dumb

2

. mute

3. muffled

4, silent



Options :

686340179601. 1
686340179602. 2
686340179603. 3
686340179604. 4

Question Number : 2 Question Id : 68634045465 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The acceptance of colour movies was a little slow compared to the

1. simileys
2. selfies
3. besties
4. talkies

Options :

686340179605. 1

686340179606. 2

686340179607. 3
686340179608. 4

Question Number : 3 Question Id : 68634045466 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Colour movies were little slow on the uptake owing to their high and costs.

1. processing/ developing
2. reviewing/developing
3. filming / processing

4. filming/developing

Options :

686340179609. 1
686340179610. 2
686340179611. 3
686340179612. 4

Question Number : 4 Question Id : 68634045467 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The of the soundtrack to the action in the film revolutionized the process of film making.

1. stitching

| B

. synchronization
3. adhering
4. business

Options :

686340179613. 1
686340179614. 2
686340179615. 3
686340179616. 4

Question Number : 5 Question Id : 68634045468 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

What 1s the main idea of the passage?

1. Film making is an easy job.

| B

. Advancement in technology has had a tremandous impact on film making
3. Silent movies and talkies were destined to become obsolete

4. Colour movies with a soundtrack are better than black-and-white movies with a soundtrack.

Options :

686340179617. 1
686340179618. 2
686340179619. 3
686340179620. 4

Sub-Section Number : 2
Sub-Section Id : 6863401482
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 68634045469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340179621. 1
686340179622 2
686340179623. 3
686340179624. 4

Question Number : 6 Question Id : 68634045469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence of the four phrases given below to make a meaningtul sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. in the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1.A.B.C.D
2D B A
3.B.D.A.C
4.C.A.D.B

Options :

686340179621. 1
686340179622. 2
686340179623. 3
686340179624. 4

Question Number : 6 Question Id : 68634045469 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct sequence of the four phrases given below to make a meaningful sentence.

A. the tangled oak treetops that you can barely see the sky
B. moss and lichen drip so thickly from

C. i the southwest of England

D. in Wistman's Wood i Dartmoor National Park

1LA.B.C.D

| )

.D.C,B.A
3.B.D.A.C
4.C.A.D.B

Options :

686340179621. 1
686340179622 2
686340179623. 3
686340179624. 4

Question Number : 7 Question Id : 68634045470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

—

. Epigraphy

2. Calligraphy

L]

. Cartography
4. Topography

Options :

686340179625. 1
686340179626. 2
686340179627. 3
686340179628. 4

Question Number : 7 Question Id : 68634045470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

| B

. Calligraphy

LIPS ]

. Cartography

=

. Topography

Options :

686340179625. 1
686340179626. 2
686340179627. 3
686340179628. 4

Question Number : 7 Question Id : 68634045470 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following is a one-word substitute for "the art of beautiful handwriting"?

1. Epigraphy

2. Calligraphy

LIPS ]

. Cartography

e

. Topography

Options :

686340179625. 1
686340179626. 2
686340179627. 3
686340179628. 4

Question Number : 8 Question Id : 68634045471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious
Options :

686340179629. 1
686340179630. 2



686340179631. 3
686340179632. 4

Question Number : 8 Question Id : 68634045471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

LIPS ]

. disruptive
4. obsequious

Options :

686340179629. 1
686340179630. 2
686340179631. 3
686340179632. 4

Question Number : 8 Question Id : 68634045471 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Which of the following can be taken to be synonym for 'obstreperous'?

1. objectionable

[ ]

. sycophantic

L]

. disruptive
4. obsequious

Options :

686340179629. 1
686340179630. 2
686340179631. 3
686340179632. 4

Question Number : 9 Question Id : 68634045472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during, beside
4. with. on

Options :

686340179633. 1

686340179634. 2

686340179635. 3
686340179636. 4

Question Number : 9 Question Id : 68634045472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.
1. beside. during
2. besides. beside
3. during. beside

4. with. on

Options :

686340179633. 1
686340179634. 2
686340179635. 3
686340179636. 4

Question Number : 9 Question Id : 68634045472 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct pair of prepositions to fill in the blanks of the following sentence:
She walked her friend the rally to support the workers.

1. beside. during

| )

. besides. beside
3. during. beside
4, with. on

Options :

686340179633. 1
686340179634. 2
686340179635. 3
686340179636. 4

Question Number : 10 Question Id : 68634045473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Word Tyvpe of pronoun
A |what I freflexive
B. jmyself II. |relative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:
1. A-IT. B-I. C-IV. D-III
2. A-I B-III, C-II, D-IV
3. A-IIL, B-1. C-IV. D-TI
4, A-IV, B-II, C-I, D-III

Options :

686340179637. 1
686340179638. 2
686340179639. 3
686340179640. 4

Question Number : 10 Question Id : 68634045473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Word Tvpe of pronoun
A lwhat I jreflexive
B. lmyself II. kelative
C. |his II1. jindefinite
D_ [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-L. C-IV, D-III

[ ]

AT BT C-II, DIV

L]

AT B-L C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340179637. 1
686340179638. 2
686340179639. 3
686340179640. 4

Question Number : 10 Question Id : 68634045473 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Word Type of pronoun
A lwhat I jreflexive
B. jmyself II. kelative
C. |his ITT. Jindefinite
D. [somewhere IV Jpossessive

Choose the most appropriate answer from the options given below:

1. A-II. B-I. C-IV. D-III

[ ]

AT BT C-II, DIV
3. A-IIT, B-I, C-IV, D-II
4. ATV, BII. C-I, DI

Options :

686340179637. 1
686340179638. 2
686340179639. 3
686340179640. 4



Question Number : 11 Question Id : 68634045474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

(B

.16

4,22

Options :

686340179641. 1
686340179642. 2
686340179643. 3
686340179644. 4

Question Number : 11 Question Id : 68634045474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16

4, 22

Options :

686340179641. 1
686340179642. 2
686340179643. 3
686340179644. 4

Question Number : 11 Question Id : 68634045474 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Find the average of first five multiples of 3 and first five multiples of 5.

1.20

b2

16



Options :

686340179641. 1
686340179642. 2
686340179643. 3
686340179644. 4

Question Number : 12 Question Id : 68634045475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

[ )
=

4,-2.6

Options :

686340179645. 1
686340179646. 2
686340179647. 3
686340179648. 4

Question Number : 12 Question Id : 68634045475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Simplify

09-[23-32-(73-54-3.7)]

1.0.18

| )
=

4.-2.6

Options :

686340179645. 1
686340179646. 2
686340179647. 3
686340179648. 4

Question Number : 12 Question Id : 68634045475 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Simplify
e W W S WY

1.0.18

[ )
=

4.-2.6

Options :

686340179645. 1
686340179646. 2
686340179647. 3
686340179648. 4

Question Number : 13 Question Id : 68634045476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square 1s same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| B

. 10:9
3. 114:113

4. 196:187

Options :

686340179649. 1
686340179650. 2
686340179651. 3
686340179652. 4

Question Number : 13 Question Id : 68634045476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1.17:11

| ]

. 10:9

3. 114:113

4. 196:187



Options :

686340179649. 1
686340179650. 2
686340179651. 3
686340179652. 4

Question Number : 13 Question Id : 68634045476 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Perimeter of a square is same as perimeter of a rectangle. If sides of rectangle are in the ratio 17:11. then find
the ratio in the areas of the square and the rectangle.

1. 17:11

| )

. 10:9
3. 114:113
4, 196:187

Options :

686340179649. 1
686340179650. 2
686340179651. 3
686340179652. 4

Question Number : 14 Question Id : 68634045477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1. 25,780

| B

.2 7,805

4. % 8,750

Options :

686340179653. 1
686340179654. 2
686340179655. 3
686340179656. 4

Question Number : 14 Question Id : 68634045477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On a certain sum of money lent at 16% per annum. the difference between the compound interest for 1year.
payable half yearly and the simple interest for 1 year 1s T 56. The sum 1s:

1.2 5,780

2. 37,805

Options :

686340179653. 1
686340179654. 2
686340179655. 3
686340179656. 4

Question Number : 14 Question Id : 68634045477 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

On a certain sum of money lent at 16% per annum. the difference between the compound interest for lyear,
payable half yearly and the simple interest for 1 year 1s ¥ 56. The sum 1s:

1.7 5,780
2.2 7.805
3.2 7.850
4. % 8,750
Options :
686340179653. 1
686340179654. 2

686340179655. 3
686340179656. 4

Question Number : 15 Question Id : 68634045478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

The average age of three boys i1s 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years
2. 25 years
3. 26 years

4. 28 years



Options :

686340179657. 1
686340179658. 2
686340179659. 3
686340179660. 4

Question Number : 15 Question Id : 68634045478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340179657. 1
686340179658. 2
686340179659. 3
686340179660. 4

Question Number : 15 Question Id : 68634045478 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average age of three boys is 22 years. Eight times the age of the youngest of them is 3 times the sum of
the ages of the other two boys. Find the age of the eldest of them if he is 8 years older to the youngest of them.

1. 24 years

| )

. 25 years
3. 26 years
4. 28 years

Options :

686340179657. 1
686340179658. 2
686340179659. 3
686340179660. 4

Question Number : 16 Question Id : 68634045479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or IT follows
Options :
686340179661. 1
686340179662. 2

686340179663. 3
686340179664. 4

Question Number : 16 Question Id : 68634045479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
IT : The investment advisor calculates the market risk with certainty.

Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and II follows

4. Either I or II follows

Options :

686340179661. 1
686340179662. 2
686340179663. 3
686340179664. 4



Question Number : 16 Question Id : 68634045479 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Given below is the statement followed by two conclusions numbered I and II.

Statement : Our securities investment carry market risk. Consult your investment advisor or agent before
investing.

Conclusions I : One should not invest in securities.
II : The investment advisor calculates the market risk with certainty.
Identify which of the conclusions follows the given statement:

1. Only II follows

| ]

. Only I follows
3. Both I and IT follows

4, Either I or II follows

Options :

686340179661. 1
686340179662. 2
686340179663. 3
686340179664. 4

Question Number : 17 Question Id : 68634045480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340179665. 1
686340179666. 2
686340179667. 3
686340179668. 4

Question Number : 17 Question Id : 68634045480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340179665. 1
686340179666. 2
686340179667. 3
686340179668. 4

Question Number : 17 Question Id : 68634045480 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the correct water image of the given figure (X)

S

Fig (x)

olalslN

Options :

686340179665. 1
686340179666. 2
686340179667. 3
686340179668. 4

Question Number : 18 Question Id : 68634045481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certain coding system. 1f2=15,4=18. 6 =39 then 10 =7

1. 105

| B
Yok
=
i

4.54

Options :



686340179669. 1
686340179670. 2
686340179671. 3
686340179672. 4

Question Number : 18 Question Id : 68634045481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

. 104
3.89
4.54

Options :

686340179669. 1
686340179670. 2
686340179671. 3
686340179672. 4

Question Number : 18 Question Id : 68634045481 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

In a certam coding system. 1f2 =15, 4 =18. 6 = 39 then 10 =7

1. 105

[ )

104
3. 89
4.54

Options :

686340179669. 1
686340179670. 2
686340179671. 3
686340179672. 4

Question Number : 19 Question Id : 68634045482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340179673. 1
686340179674. 2
686340179675. 3
686340179676. 4

Question Number : 19 Question Id : 68634045482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA

LEDWMPSNV
3.3GWMt2 UV
L ECWMY2ZUY

Options :

686340179673. 1
686340179674. 2
686340179675. 3
686340179676. 4

Question Number : 19 Question Id : 68634045482 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the mirror image of the given combination

"AN5S4WMG3"
LEDMWEREZMA
2.EDWMPSNV
3.3GWMYR2MY
4L ECWM P2 UV

Options :

686340179673. 1
686340179674. 2
686340179675. 3
686340179676. 4

Question Number : 20 Question Id : 68634045483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In you were born on 6th
birthday fall in 19847

November. 1983. which was a Sunday. then on which day of the week does your

1. Monday

2. Wednesday
3. Tuesday

4, Friday

Options :

686340179677. 1
686340179678. 2
686340179679. 3
686340179680. 4

Question Number : 20 Question Id : 68634045483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In you were born on 6" November, 1983. which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

b2

. Wednesday

L

. Tuesday

=

. Friday

Options :

686340179677. 1
686340179678. 2
686340179679. 3
686340179680. 4

Question Number : 20 Question Id : 68634045483 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In you were born on 6" November, 1983, which was a Sunday. then on which day of the week does your
birthday fall in 19847

1. Monday

2. Wednesday

3. Tuesday

4. Friday
Options :
686340179677. 1
686340179678. 2

686340179679. 3
686340179680. 4

Question Number : 21 Question Id : 68634045484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis is known as

1. Polar Satellite

[ B

. Stationary Satellite

3. Geostationary Satellite

f-%

INSAT



Options :

686340179681. 1
686340179682. 2
686340179683. 3
686340179684. 4

Question Number : 21 Question Id : 68634045484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4, INSAT

Options :

686340179681. 1
686340179682. 2
686340179683. 3
686340179684. 4

Question Number : 21 Question Id : 68634045484 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Satellite having the same orbital period as the period of rotation of the earth about its own axis 1s known as

1. Polar Satellite
2. Stationary Satellite
3. Geostationary Satellite

4. INSAT

Options :

686340179681. 1
686340179682. 2
686340179683. 3
686340179684. 4

Question Number : 22 Question Id : 68634045485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO II. [KORBA
C. |Indian Aluminum Company III. [KORAPUT
D [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III

L]

AT B-IV. C-1, D-II
4. A1 B-1, C-IV, DI

Options :

686340179685. 1
686340179686. 2
686340179687. 3
686340179688. 4

Question Number : 22 Question Id : 68634045485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |Indian Aluminum Company I [KORAPUT
D. [NALCO IV [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-I, C-IV, D-II

[ ]

AL B-TV, C-1, D-III
3. A-IIT, B-IV, C-1, D-II
4. AT B-1, C-IV, DI

Options :

686340179685. 1
686340179686. 2
686340179687. 3
686340179688. 4



Question Number : 22 Question Id : 68634045485 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Aluminium company Location
A [BALCO I HIRAKUND
B. HINDALCO I [KORBA
C. |[Indian Aluminum Company II1. [KORAPUT
D. [NALCO IV. [RENUKOAT

Choose the most appropriate answer from the options given below:

1. A-III, B-1, C-IV. D-I1
2. AIL B-IV, C-I, D-1IT
3. AL BIV.CI DI
4. A-II B-1, C-IV, D-1I1

Options :

686340179685. 1

686340179686. 2

686340179687. 3
686340179688. 4

Question Number : 23 Question Id : 68634045486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

[ ]

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340179689. 1
686340179690. 2
686340179691. 3
686340179692. 4

Question Number : 23 Question Id : 68634045486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340179689. 1
686340179690. 2
686340179691. 3
686340179692. 4

Question Number : 23 Question Id : 68634045486 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The speaker can stop a member of Parliament from speaking and let another member speak. This phenomenon
is known as

1. Decorum

| )

. Crossing the floor
3. Interpellation
4. Yielding the floor

Options :

686340179689. 1
686340179690. 2
686340179691. 3
686340179692. 4

Question Number : 24 Question Id : 68634045487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. N M Joshi
C. |Servant of Indian society IT1. [Dayanand Saraswarti
D_ |Social Sevice League IV |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-IIL, B-IV. C-II. D-I

[ ]

AL B-IV. C-1, D-IT
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DT

Options :

686340179693. 1
686340179694. 2
686340179695. 3
686340179696. 4

Question Number : 24 Question Id : 68634045487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Famakrishna Mission II. INM Joshi
C. |Servant of Indian society 1M1 [Dayanand Saraswati
D. [Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. A-TIL, B-IV, C-1I. D-I
2 AN BIV.CI.DII
3. A IV, B-III, C-1, D-II
4. AT B-IV, C-I, DI

Options :

686340179693. 1

686340179694. 2

686340179695. 3
686340179696. 4



Question Number : 24 Question Id : 68634045487 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with List IT

LISTI LISTII
Religious Institution Founder
A |Arva Samaj I. |Gopal Krishna Gokhle
B. [Ramakrishna Mission IT. IN.M Joshi
C. |Servant of Indian society II1. |Davanand Saraswati
D. |Social Sevice League IV, |Swami Vivekananda

Choose the most appropriate answer from the options given below:

1. ATl BIV. C-II. DI

| ]

AL B-IV, C-1, D-II

5]

CA-IV, BT, C-1, D-IT
4. A-II B-IV, C-1, D-111

Options :

686340179693. 1
686340179694. 2
686340179695. 3
686340179696. 4

Question Number : 25 Question Id : 68634045488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Point of origin of earthquake wave is known as

1. Seismic zone
2. Focus
3. Photosphere
4. Epicentre

Options :

686340179697 1

686340179698. 2

686340179699. 3
686340179700. 4

Question Number : 25 Question Id : 68634045488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point of origin of earthquake wave is known as

1. Seismic zone

2

. Focus

LFS]

. Photosphere
4, Epicentre

Options :

686340179697. 1
686340179698. 2
686340179699. 3
686340179700. 4

Question Number : 25 Question Id : 68634045488 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Point of origin of earthquake wave is known as

1. Seismic zone

b2

. Focus

LFS]

. Photosphere
4. Epicentre

Options :

686340179697 1
686340179698. 2
686340179699. 3
686340179700. 4

Part B: Vedanta Sarvadarshan

Section Id : 686340896
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401483
Question Shuffling Allowed : Yes

Is Section Default? : null



Question Number : 26 Question Id : 68634045489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ll:_ [

i ORI U Hidfde: 2

IMEEIG|

§

Options :

686340179701. 1
686340179702. 2
686340179703. 3
686340179704. 4

Question Number : 26 Question Id : 68634045489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RG] T[OTA YT YT Biae: ?
1 [ pi E![ ﬂ

§

Options :

686340179701. 1
686340179702. 2
686340179703. 3
686340179704. 4

Question Number : 26 Question Id : 68634045489 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RG] TUTASHEIT YT B ?

§

Options :

686340179701. 1
686340179702. 2
686340179703. 3
686340179704. 4

Question Number : 27 Question Id : 68634045490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TaHTal yafd -

4. VHT

Options :

686340179705. 1
686340179706. 2
686340179707. 3
686340179708. 4

Question Number : 27 Question Id : 68634045490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TTgesH TayTal Yafd -

:

4. WHT

Options :



686340179705. 1
686340179706. 2
686340179707. 3
686340179708. 4

Question Number : 27 Question Id : 68634045490 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TreRH TyTar Yafd -

%

4. UHT

Options :

686340179705. 1
686340179706. 2
686340179707. 3
686340179708. 4

Question Number : 28 Question Id : 68634045491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oy Ty [ iy [t iy

AITERH Bid ddl Jdipdll-— did ?

1. 9ls¥

[

T
 gfderfa:
4. ggfdufd:

B

L]

Options :

686340179709. 1
686340179710. 2
686340179711. 3
686340179712. 4

Question Number : 28 Question Id : 68634045491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



?ﬁ?

4, gidfcr:
Options :
686340179709. 1
686340179710. 2
686340179711. 3
686340179712. 4

Question Number : 28 Question Id : 68634045491 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

LY Ty [ oy [t iy

AITERI Bid dl Jdipdll-— did ?

1. 9ls¥

[

i
R ESIGEIIE
4. ygfderfa:

B

L]

Options :

686340179709. 1
686340179710. 2
686340179711. 3
686340179712. 4

Question Number : 29 Question Id : 68634045492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O HTHGRIY: & 2

1. &4

| )



Options :

686340179713. 1
686340179714. 2
686340179715. 3
686340179716. 4

Question Number : 29 Question Id : 68634045492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S HTHGRIY: & 2

1. &t

IR
3. Ia:
4, Fie:

Options :

686340179713. 1
686340179714. 2
686340179715. 3
686340179716. 4

| )

Question Number : 29 Question Id : 68634045492 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIFTHG SHA-RIY: & 2

1. &4

R
3. Hax:
4. Fefe:

Options :

686340179713. 1
686340179714. 2
686340179715. 3
686340179716. 4

| )

Question Number : 30 Question Id : 68634045493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



JaHig-aRed EHqaRyf< & 2

1. AT
2. JfTear:
3. ArdiaT:
4, GITHERT:

Options :

686340179717. 1

686340179718. 2

686340179719. 3
686340179720. 4

Question Number : 30 Question Id : 68634045493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHig—aRe EagaRal~< @ 2
1. T
2. 3Tedl:
3. ATqiehT:

4, TR

Options :

686340179717. 1
686340179718. 2
686340179719. 3
686340179720. 4

Question Number : 30 Question Id : 68634045493 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IIH TR TRHddRAd & 2
1. GIT:
2. TRl
3. AT
4. TRTTERT:

Options :



686340179717. 1
686340179718. 2
686340179719. 3
686340179720. 4

Question Number : 31 Question Id : 68634045494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRNYUTHTarE Wi -
1. Hreafia:

e

TATER:
quifye:
4. FrAT=I:

Options :

686340179721. 1
686340179722. 2
686340179723. 3
686340179724. 4

| )

[#5]

Question Number : 31 Question Id : 68634045494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Wieifd -
1. HreAfi:
2. ATEIR:
3. quIfe:
4. granfae:
Options :

686340179721. 1
686340179722. 2
686340179723. 3
686340179724. 4

Question Number : 31 Question Id : 68634045494 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SR TFEare Wi -
1. Hreafie:

%

TR
JuIf:
4. AT

Options :

686340179721. 1
686340179722. 2
686340179723. 3
686340179724. 4

| )

L

Question Number : 32 Question Id : 68634045495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT fog: =48 foe 2

1. T
2. AHATG:
3. g
4. AEHUN]:

Options :

686340179725. 1

686340179726. 2

686340179727. 3
686340179728. 4

Question Number : 32 Question Id : 68634045495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HfFTa e fug: 74 foe 2
1. TS
2. dIHAT:
3. TR
4. TIEHUN]:

Options :



686340179725. 1
686340179726. 2
686340179727. 3
686340179728. 4

Question Number : 32 Question Id : 68634045495 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HITa I Uq: 79 b 2
1. TS
2. AE:
3. IR
4. TEHUT:
Options :
686340179725. 1
686340179726. 2

686340179727. 3
686340179728. 4

Question Number : 33 Question Id : 68634045496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT gl SIIH} Sidfdes 2
1. fgfaem
2. PAfayg
3. Fgfdem
4. yafauH

Options :

686340179729. 1
686340179730. 2
686340179731. 3
686340179732. 4

Question Number : 33 Question Id : 68634045496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HreAf¥ET A Bidfdys 2
1. fgfaem
2. PAfayg
3. Fgfdem
4. Vgfaur

Options :

686340179729. 1
686340179730. 2
686340179731. 3
686340179732. 4

Question Number : 33 Question Id : 68634045496 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR SFUH Biafdus 2
1. fgfaem
2. PAfayg
3. Fgfdem
4. Vgfaur
Options :
686340179729. 1
686340179730. 2

686340179731. 3
686340179732. 4

Question Number : 34 Question Id : 68634045497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SIFTH SRR TRIGUIG: o ?

1. Taqr:

:

1

4. fAoR:

Options :



686340179733. 1
686340179734. 2
686340179735. 3
686340179736. 4

Question Number : 34 Question Id : 68634045497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST SRRETRIGUIa: o 2

1. Taqr:

| ]

HIHEdL:

g
4, Tter:

Options :

686340179733. 1
686340179734. 2
686340179735. 3
686340179736. 4

L

Question Number : 34 Question Id : 68634045497 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SHd WEREEUE: & 2

1. A

[ ]

HIHEdT:

g
4. Fter:

Options :

686340179733. 1
686340179734. 2
686340179735. 3
686340179736. 4

[#5]

Question Number : 35 Question Id : 68634045498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



L

4. gFiqeH
Options :
686340179737. 1
686340179738. 2

686340179739. 3
686340179740. 4

Question Number : 35 Question Id : 68634045498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT W Biafdey 2
1. fgfaem
REICLE
Tgfaem
4. UFfduH

[ ]

L]

Options :

686340179737. 1
686340179738. 2
686340179739. 3
686340179740. 4

Question Number : 35 Question Id : 68634045498 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T WHI0 Ay 2
1. fgfaem
EIGHE
g
4. Ifaem

.

| )

(5]



Options :

686340179737. 1
686340179738. 2
686340179739. 3
686340179740. 4

Question Number : 36 Question Id : 68634045499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3o vy Pl vafd-
1. yHapIfd:
2. giam:
3. fagrT:
4, TYER:

Options :

686340179741. 1
686340179742. 2
686340179743. 3
686340179744. 4

Question Number : 36 Question Id : 68634045499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHFYHB I Fdl Yafd-
1. Y
2. gieny:
3. fgmm:
4. A

Options :

686340179741. 1
686340179742. 2
686340179743. 3
686340179744. 4

Question Number : 36 Question Id : 68634045499 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3o vy Pl vafd-
1. yHesIfd:
2. giam:
3. fagmT:
4, TYER:

Options :

686340179741. 1
686340179742. 2
686340179743. 3
686340179744. 4

Question Number : 37 Question Id : 68634045500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PITERYTHd Id-4 Hafd -

1. H:

[

ST
ok

4. Pl

L]

Options :

686340179745. 1
686340179746. 2
686340179747. 3
686340179748. 4

Question Number : 37 Question Id : 68634045500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HEHRIgnd Id=0 Yafd -

L H-:

4. BT

Options :



686340179745. 1
686340179746. 2
686340179747. 3
686340179748. 4

Question Number : 37 Question Id : 68634045500 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BrRdRYard Ja=d Yafd -

1. H4:

| )

ST
. de:

4. PIcT:

[#5]

Options :

686340179745. 1
686340179746. 2
686340179747. 3
686340179748. 4

Question Number : 38 Question Id : 68634045501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qAfiReRiad smayifde vafd -
1. Ferq-fe:
-
 SO1-SIid:
4. forar-wfaa:

Options :

686340179749. 1
686340179750. 2
686340179751. 3
686340179752. 4

[

L]

Question Number : 38 Question Id : 68634045501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



} 4

4. Tohar-=fd:

Options :

686340179749. 1
686340179750. 2
686340179751. 3
686340179752. 4

Question Number : 38 Question Id : 68634045501 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TATHRIERI o ST Haid -

1. Ferq-wrfe:

 H-=IfR:

SOl
4. forar-wiaa:

Options :

686340179749. 1

686340179750. 2

686340179751. 3
686340179752. 4

| )

[#5]

Question Number : 39 Question Id : 68634045502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
HITHE HMHR: D ?
1. SRRMSER:
3. fmearE:
4. 81 < [H[H<g]d Eﬂ:

Options :

| )



686340179753. 1
686340179754. 2
686340179755. 3
686340179756. 4

Question Number : 39 Question Id : 68634045502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAGHSE HMSHR: & ?

[y

 JRERHSE:
 EET:

3. fieqrand:

4. SRMOF<EE:

Options :

686340179753. 1
686340179754. 2
686340179755. 3
686340179756. 4

| )

Question Number : 39 Question Id : 68634045502 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAGHEE HSHR: & ?

[y

 JRERHSE:
 RieETd:

3. fieqrand:

4. SRS =Y

Options :

686340179753. 1
686340179754. 2
686340179755. 3
686340179756. 4

| )

Question Number : 40 Question Id : 68634045503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oA JETEdnE ®id 2

1. IdifX

| )

CES |
3.9
4.4d

Options :

686340179757. 1
686340179758. 2
686340179759. 3
686340179760. 4

Question Number : 40 Question Id : 68634045503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

wHd HelddllH PId ?

1. I@iiX

| )

i B )
3.t
4.-d

Options :

686340179757. 1
686340179758. 2
686340179759. 3
686340179760. 4

Question Number : 40 Question Id : 68634045503 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e

SiHd Helgdii- ®id 2
1. Iy

.32

| )

3.9

4.-d

Options :



686340179757. 1
686340179758. 2
686340179759. 3
686340179760. 4

Question Number : 41 Question Id : 68634045504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

deAURUTISRE HUORmHR B 6y 2

1. YU

%

Options :

686340179761. 1
686340179762. 2
686340179763. 3
686340179764. 4

Question Number : 41 Question Id : 68634045504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dEFAIR TS RA HYTaRmHR B 69 2

1. SYURH,

%

4, SUATEHIH
Options :

686340179761. 1
686340179762. 2
686340179763. 3
686340179764. 4

Question Number : 41 Question Id : 68634045504 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



%

Options :

686340179761. 1
686340179762. 2
686340179763. 3
686340179764. 4

Question Number : 42 Question Id : 68634045505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fodardufrsepaursdaw o wafd -

1. yfarew
fae:
AT

[ ]

L]

4. ey

Options :

686340179765. 1
686340179766. 2
686340179767. 3
686340179768. 4

Question Number : 42 Question Id : 68634045505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fadariyiasemaursdad s vafd 2
1. 3fares

fae:

AHYTE

| ]

L

4. Hed

Options :



686340179765. 1
686340179766. 2
686340179767. 3
686340179768. 4

Question Number : 42 Question Id : 68634045505 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ai=emaasdad o= vafd 2
1. farew

fae:

AT

| )

[#5]

4. H<ed

Options :

686340179765. 1
686340179766. 2
686340179767. 3
686340179768. 4

Question Number : 43 Question Id : 68634045506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B T WA A S-agaly: Fis: 2
1. HiHigsy 1d
2. Ao od
3. WMfegep® A

4. ATAFTNG 7

Options :

686340179769. 1
686340179770. 2
686340179771. 3
686340179772. 4

Question Number : 43 Question Id : 68634045506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B Gd YIRS -agay: HiHe: 2
1. HiHigsy °d
2. T Od
3. WMfegp & Ad

4. ARG 7

Options :

686340179769. 1
686340179770. 2
686340179771. 3
686340179772. 4

Question Number : 43 Question Id : 68634045506 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

B Hd T S-aua : Wi 2
1. HiAEewE 7d
2. RS 7d
3. Yfed e Ad

4. ARG 7

Options :

686340179769. 1
686340179770. 2
686340179771. 3
686340179772. 4

Question Number : 44 Question Id : 68634045507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PHGIHAgaeD! fdfe: &: 2
1. Jrfafe:

fafgrtafe:

PRI

4. Ififafer

Options :

| )

L



686340179773. 1
686340179774. 2
686340179775. 3
686340179776. 4

Question Number : 44 Question Id : 68634045507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HHOIHa@Erd®! fafi: &: 2
1. Jrfafe:

fafgrtafe:

PRI

4. Ifufafer:

| )

L

Options :

686340179773. 1
686340179774. 2
686340179775. 3
686340179776. 4

Question Number : 44 Question Id : 68634045507 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAY fafi: &: 2
1. wgiafe:

fafrgrtafe:

PRGN

4. IArafafe:

| )

[#%]

Options :

686340179773. 1
686340179774. 2
686340179775. 3
686340179776. 4

Question Number : 45 Question Id : 68634045508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4o 3N &: WiHd ?
1. O
aTfe:
goifve:
4. TEATET:
Options :
686340179777. 1
686340179778. 2

686340179779. 3
686340179780. 4

| )

L

Question Number : 45 Question Id : 68634045508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
de SUIYTE & WIBRId ?

1. OfF:

e

ENIREE
4. TEgTET:

Options :

686340179777. 1

686340179778. 2

686340179779. 3
686340179780. 4

| )

[#5]

Question Number : 45 Question Id : 68634045508 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
35 AURHTE &: Wi 2
1. SF:
i
 a9ife:
4. GeATETY:

Options :

| )

L]



686340179777. 1
686340179778. 2
686340179779. 3
686340179780. 4

Question Number : 46 Question Id : 68634045509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wada-Radade dagd & g3 TR e 2

1. 4™ Juig® e
Treges

4. YR Tca¥ e
Options :
686340179781. 1
686340179782. 2

686340179783. 3
686340179784. 4

| )

[#%]

Question Number : 46 Question Id : 68634045509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Wad-RadaUe dagd & g3 TR e 2

1. 4™ Juig® e
Treges

4. YR Tca¥ 4
Options :
686340179781. 1
686340179782. 2

686340179783. 3
686340179784. 4

| )

[#%]

Question Number : 46 Question Id : 68634045509 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Wad-Rdaa dagd $ M a¥H IR fded 2

1. 4R Juig® =
e

4, 9RM Taa¥ e
Options :
686340179781. 1
686340179782. 2

686340179783. 3
686340179784. 4

| )

[FS]

Question Number : 47 Question Id : 68634045510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T4 fagH eiftrefifa o Rrgr: 2
1. fTea
RSIRIES|
=rafes

4. 0

| )

L

Options :

686340179785. 1
686340179786. 2
686340179787. 3
686340179788. 4

Question Number : 47 Question Id : 68634045510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¢ faTH et iafa o g 2
1. ATedd
AT
R {GiEz|

4. 0

| ]

(5]

Options :



686340179785. 1
686340179786. 2
686340179787. 3
686340179788. 4

Question Number : 47 Question Id : 68634045510 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T4 s eftrefiid o Ragr:
1. Sead
GRS
R IGICaY

4. 40

| ]

(5]

Options :

686340179785. 1
686340179786. 2
686340179787. 3
686340179788. 4

Question Number : 48 Question Id : 68634045511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A< URAAE: ©: 2
1. FreiaRmE:

. FRTETHT:
3. SR

4. FIIARET:

Options :

686340179789. 1
686340179790. 2
686340179791. 3
686340179792. 4

| ]

Question Number : 48 Question Id : 68634045511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I UREWE: & 2
1. SiaRmE:

 SRTYTHL:
3. STgFARA:

4. FIGHTTZR:

Options :

686340179789. 1
686340179790. 2
686340179791. 3
686340179792. 4

[ ]

Question Number : 48 Question Id : 68634045511 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I UREWE: & 2
1. FiiaRmE:

 SRTYTHL:
3. STgFARA:

4. FIGHTTZR:

Options :

686340179789. 1
686340179790. 2
686340179791. 3
686340179792. 4

[ ]

Question Number : 49 Question Id : 68634045512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Hedwd HISTUR: &: 2
1. %H
2. 91
3. Yfg:
4. TIT:

Options :



686340179793. 1
686340179794. 2
686340179795. 3
686340179796. 4

Question Number : 49 Question Id : 68634045512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3fg I HI&TTE: B 2
1. oH

2. 3H

%

3. Yfga:
4. TQIT:

Options :

686340179793. 1
686340179794. 2
686340179795. 3
686340179796. 4

Question Number : 49 Question Id : 68634045512 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3gaHd HIETT: &: 2
1. ®H

2,315

%

3. Yiga:
4. TIT:

Options :

686340179793. 1
686340179794. 2
686340179795. 3
686340179796. 4

Question Number : 50 Question Id : 68634045513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty
4. gufas:

Options :

686340179797. 1
686340179798. 2
686340179799. 3
686340179800. 4

[FN]

Question Number : 50 Question Id : 68634045513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fafmTgaa oite: Hfafaw: 2
IWEIGLE

Fgfde
REEIGHE
4. afay:

Options :

686340179797. 1
686340179798. 2
686340179799. 3
686340179800. 4

| )

[#5]

Question Number : 50 Question Id : 68634045513 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
faRIpTead Sita: Hiafde: 2
1. FAfae:
agfdy:
gFfae:
4. guafasy:

Options :

| )

L]



686340179797. 1
686340179798. 2
686340179799. 3
686340179800. 4

Question Number : 51 Question Id : 68634045514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FRMISHd Yde Pidfay yafd 2
1. fgfaym
2. FAfaem
3. Igdem
4. ygfayy
Options :
686340179801. 1
686340179802. 2

686340179803. 3
686340179804. 4

Question Number : 51 Question Id : 68634045514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FRTATSTH Tedel icfay Yafd 2
1. fgfaem

7
:

4. ggfayy

Options :

686340179801. 1
686340179802. 2
686340179803. 3
686340179804. 4

Question Number : 51 Question Id : 68634045514 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FRMATSHd Ual efafgy yafd 2

1. fgfaem
2. PAfguy
3. Fqidey
4. gfaem

Options :

686340179801. 1

686340179802. 2

686340179803. 3
686340179804. 4

Question Number : 52 Question Id : 68634045515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ToitsHa UPrEmR: Siafadl Hafd 2
1. FAfay:
2. T
3. gfde:
4. geafay:
Options :
686340179805. 1
686340179806. 2

686340179807. 3
686340179808. 4

Question Number : 52 Question Id : 68634045515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gdi-AddIUeaHy: Siafadr vafd
1. Pfay:
2. G
3. gfae:
4. gdfae:

Options :



686340179805. 1
686340179806. 2
686340179807. 3
686340179808. 4

Question Number : 52 Question Id : 68634045515 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TdlsHdImER: Sidfad yafd 2
INEIGEE

2. Fgfde:
3. TFfge:
4. Jgaafae:

Options :

686340179805. 1
686340179806. 2
686340179807. 3
686340179808. 4

Question Number : 53 Question Id : 68634045516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. YU ddl
2. SRIEHIER
3. QETIRIHI U] Uiaya:
4. RRRgEH
Options :
686340179809. 1
686340179810. 2

686340179811. 3
686340179812. 4

Question Number : 53 Question Id : 68634045516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Options :

686340179809. 1
686340179810. 2
686340179811. 3
686340179812. 4

Question Number : 53 Question Id : 68634045516 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1. YU ddl
2. SREHIEH
3. GONTH Ui wfdua:
4. RRRgEH
Options :
686340179809. 1
686340179810. 2

686340179811. 3
686340179812. 4

Question Number : 54 Question Id : 68634045517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1 Teqavdd &: Jrams: 2

1. YgFIHHaM:
HHa:

| ]

f%

4. IO

Options :



686340179813. 1
686340179814. 2
686340179815. 3
686340179816. 4

Question Number : 54 Question Id : 68634045517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Yeaadde) : HidHy: 2
1. HYgaaHary:

. qTam:

 JHATHHAT:

il

4. IOAT:

| )

L

Options :

686340179813. 1
686340179814. 2
686340179815. 3
686340179816. 4

Question Number : 54 Question Id : 68634045517 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

O Yegavdd & sy 2

1. YgaIgHTNY:
. gHAT:
 JHIdIHAg:

=

4. 9GNT:

| ]

[#5]

Options :

686340179813. 1
686340179814. 2
686340179815. 3
686340179816. 4

Question Number : 55 Question Id : 68634045518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3. Y=

4. YT

Options :

686340179817. 1
686340179818. 2
686340179819. 3
686340179820. 4

Question Number : 55 Question Id : 68634045518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TG HRATT A Ul 2
1. IR

2. Pl
3. YIGTaTy
4, YO

Options :

686340179817. 1
686340179818. 2
686340179819. 3
686340179820. 4

Question Number : 55 Question Id : 68634045518 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A AR A Qfe: 2
1. MUR

2. Pl
3. HTG-TgTH
4. AYTA

Options :



686340179817. 1
686340179818. 2
686340179819. 3
686340179820. 4

Question Number : 56 Question Id : 68634045519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W [y o [t

Dlfde: [Gpuar ganfs Usarq Ueiquar oifed Alwus: HwIg Hald

1. TR

2. JdeRIdq

L

3' -
4. STIdIId

Options :

686340179821. 1
686340179822. 2
686340179823. 3
686340179824. 4

Question Number : 56 Question Id : 68634045519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W [y o [t

Dlfde: [Gpuar ganfs Usarq Ueiquar oifed Alwus: HwIg Hald

1. oHIHUM]

N

[

. odeRIq

L

3. JYHII]

-4

4. STIdIId
Options :
686340179821. 1
686340179822. 2
686340179823. 3
686340179824. 4

Question Number : 56 Question Id : 68634045519 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Difba: Uhugarn salfs T MeTiduaHi Sifed ufdds: HHIg Hafd 2
1. STHI

2. AdeRId

%

3' -
4. HATdTHId

Options :

686340179821. 1
686340179822 2
686340179823. 3
686340179824. 4

Question Number : 57 Question Id : 68634045520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gffOTep faRTHTE 2fd . Hay 2
1. SR
2. SRR
3. SEgAEHY
4. AMEREEH

Options :

686340179825. 1
686340179826. 2
686340179827. 3
686340179828. 4

Question Number : 57 Question Id : 68634045520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
&fTOTR TARIT-THTT Sid I HaH 2
1. SRR
2. SR
3. BEERY
4. TMERE G

Options :




686340179825. 1
686340179826. 2
686340179827. 3
686340179828. 4

Question Number : 57 Question Id : 68634045520 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g azaTET 3fd g 7y 2

1. SRR

2. RIS

3. IEOAENY
4. ONTEREIGH

Options :

686340179825. 1
686340179826. 2
686340179827. 3
686340179828. 4

Question Number : 58 Question Id : 68634045521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SeRRigrd Siurd®: & Yafg 2
1. Siid:
. 3{9iig:

 H:

[

L]

4. ST
Options :

686340179829. 1
686340179830. 2
686340179831. 3
686340179832. 4

Question Number : 58 Question Id : 68634045521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SeRRRIg SIUTdS: B Yatd 7
1. Siia:
. 3{uiig:

3. H4:

| )

4. ST
Options :

686340179829. 1
686340179830. 2
686340179831. 3
686340179832. 4

Question Number : 58 Question Id : 68634045521 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR SIUTd®: &I Yafd 2
1. Siid:
. 3{wiig:

3. H4:

[

4. 9lTq
Options :
686340179829. 1
686340179830. 2
686340179831. 3
686340179832. 4

Question Number : 59 Question Id : 68634045522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SR Hig uel: gfw -

AY:
i 55 )

| )

3. dediR:

4.9



Options :

686340179833. 1
686340179834. 2
686340179835. 3
686340179836. 4

Question Number : 59 Question Id : 68634045522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FHEHRYaeRH Hia Teryl: If= 2

A
CES |

| )

3. dddR:
4. 94T

Options :

686340179833. 1
686340179834. 2
686340179835. 3
686340179836. 4

Question Number : 59 Question Id : 68634045522 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SRR Hig gl afwy -

AY:
i B )

| )

3. dediR:
4.9

Options :

686340179833. 1
686340179834. 2
686340179835. 3
686340179836. 4

Question Number : 60 Question Id : 68634045523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TS Tdl & 2

1. T
ST
U

4, QA=

Options :
686340179837. 1
686340179838 2

686340179839. 3
686340179840. 4

| )

L

Question Number : 60 Question Id : 68634045523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TS Tdl & 2

1. T
ST
U

4. =<

Options :
686340179837. 1
686340179838 2

686340179839. 3
686340179840. 4

| )

L

Question Number : 60 Question Id : 68634045523 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TAIRIYE &dl &: 2
1. gy

ST

 AEHON:

4, HIHH<:

Options :

| )

L



686340179837. 1
686340179838. 2
686340179839. 3
686340179840. 4

Question Number : 61 Question Id : 68634045524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

odaey YaaeE™T Hafd -
1. TeherEm:
S HHA aRj:
TegE:
4. AHTSAE:
Options :
686340179841. 1
686340179842. 2

686340179843. 3
686340179844. 4

| ]

[#%]

Question Number : 61 Question Id : 68634045524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tdae™ YaaaE™r Hafd -
1. THREN:

A<=
O

4. TAFSTETE:
Options :
686340179841. 1
686340179842. 2

686340179843. 3
686340179844. 4

| )

[FS]

Question Number : 61 Question Id : 68634045524 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tdae™ YaaaE™r Hafd -
1. THREN:

A<=
O

4. AFSTETE:
Options :
686340179841. 1
686340179842. 2

686340179843. 3
686340179844. 4

| )

[FS]

Question Number : 62 Question Id : 68634045525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
O1d reEeE] Hafd -
1. oIf:
2. GRS
3. H&d1
4, Toie:
Options :
686340179845. 1
686340179846. 2

686340179847. 3
686340179848. 4

Question Number : 62 Question Id : 68634045525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
10 AT Hafd -
1. oI
2. TR
3. &I
4. TS

Options :



686340179845. 1
686340179846. 2
686340179847. 3
686340179848. 4

Question Number : 62 Question Id : 68634045525 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1Y regHa] Hdfd -
1. SIS
2. GRS
3. H&d1
4. Tofg:

Options :

686340179845. 1
686340179846. 2
686340179847. 3
686340179848. 4

Question Number : 63 Question Id : 68634045526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AERAR APR: &t ?
1. Heareas:
4. TEeHE:
Options :
686340179849. 1
686340179850. 2

686340179851. 3
686340179852. 4

[ ]

L]

Question Number : 63 Question Id : 68634045526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IS ADR: & ?
1. Heareiay:

R LCAIGE
et

4, TEEOIHA:
Options :
686340179849. 1
686340179850. 2

686340179851. 3
686340179852. 4

| )

[FS]

Question Number : 63 Question Id : 68634045526 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AERAR APR: &t ?
1. Heareas:
4. TgafH:
Options :
686340179849. 1
686340179850. 2

686340179851. 3
686340179852. 4

[ ]

L]

Question Number : 64 Question Id : 68634045527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AU &l &: 2

. PRAHE:

R G EARE

 Pprafor:

4. HRAHEY:

Options :

ja—y

| )

[#5]



686340179853. 1
686340179854. 2
686340179855. 3
686340179856. 4

Question Number : 64 Question Id : 68634045527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
NI Bl B 2
. PRAHE:
AT
RGO
4. YAy
Options :
686340179853. 1
686340179854. 2

686340179855. 3
686340179856. 4

ja—y

| ]

[#5]

Question Number : 64 Question Id : 68634045527 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AU &l &: 2
. HRGUE:
PGS
. RIGIr:
4. PRGHY:
Options :
686340179853. 1
686340179854. 2

686340179855. 3
686340179856. 4

—

[

L]

Question Number : 65 Question Id : 68634045528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AAsiye Yo GHage Rl 69 2
1. THgnT:
I
4. R
Options :
686340179857. 1
686340179858. 2

686340179859. 3
686340179860. 4

| )

L

Question Number : 65 Question Id : 68634045528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i

A=Y Yew] JuaiyeRy f6r 2
AGEE
4. &

Options :

686340179857. 1
686340179858. 2
686340179859. 3
686340179860. 4

—

[

L]

Question Number : 65 Question Id : 68634045528 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
aYiye yewg GHage Rl f6H 2
1. TGN
. pdlet:

| )

aq
.38



Options :

686340179857. 1
686340179858. 2
686340179859. 3
686340179860. 4

Question Number : 66 Question Id : 68634045529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IY: HUAGY Ued e | Tehal HTHAAAH A, 3W g HHUTH R
FRFTER A ¢ FETAY YA UG T #Hafg |
RO R : GUrAd Aid dacEasEaTen g aEcdrd |
ST FUADT I UeaRiPely e 3a¢ Riga-
1. HMUHYH A DRUI R 9 IHT 1Y, PRUM R. A TEY HUHY-TI e AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LFN]

 HHDY A FIY, PRUIR T S41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179861. 1
686340179862. 2
686340179863. 3
686340179864. 4

Question Number : 66 Question Id : 68634045529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T HYAEY Ugaeed| Teha] ITIHYUTH A, W J HROH R
FFURR A : FiTad YA UG Fadr Hafg |

WO R : guiHe Afd adcEarsaRaaaEdaEcdad |
IUYT HUATAIDA HY: Ugdiasedy sfEds 3o -
1. 3fHHY- A DRI R I IHT Y, PRUM R, A T HHDYUT 1Y oI HRIfd |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

[#5]

DY A T1Y, HRU R T 3R1Y|

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :
686340179861. 1



686340179862. 2
686340179863. 3
686340179864. 4

Question Number : 66 Question Id : 68634045529 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y HYAGT UgdAed| ThdA HHFUFH A, W g HROH R
F¥WFyaH A -GS YA GIATYT Tarl JAfa |

&R R : quiad | ardcramsRarshaEdlaedrd |

UL HAATAIRA HY: dgafadeny 3Had 3o [Bgd-

1. 3fHHY- A DRI R I IHT Y, PRUM R, A T HHDYUT 1Y oI HRIfd |

| )

- HIUSHY A DR R I T F1Y foor] DRUM R. A SHH S HHYT FIe 7 SRHA] BT |

[#5]

DY A T1Y, HRU R T 3RTY|

=

- HIUHYTH A 1Y, fob=] PRUI R Y|

Options :

686340179861. 1
686340179862. 2
686340179863. 3
686340179864. 4

Question Number : 67 Question Id : 68634045530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HUAGY Uedaed | Thdl HTHBAFH, HW g HROTA|
FiirwyaH | WUTdea UcHaTAEACA AV TIed a9ad |

FRUMH, : SO UcdaTAaaa=legdiee UAvEged gafed faad |
SUT HUATIhA HY: Ugafaeedy sfadd 3ol adgd-
1. 3{UHYH A DRI R 9 IHY 1Y, PRUM R. A T HUHYT e SURH] BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

L]

DY A F1Y, DRUR T 3RATY |

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179865. 1
686340179866. 2
686340179867 3



686340179868. 4

Question Number : 67 Question Id : 68634045530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUAGY Uedaed | Tehd] HTHBUAH, JU g HRUTA|

FowgaH, . RFd TTagAEAGT UAEY Tgd [Oad |

FRUH : A0 UcdaTARUATAEH e UAT=ded giafed Ao |
SUT HUATIhA HY: Ugafaeedy sfadd 3ol adgd-
1. HMUHYH A DRUI R 9 IHT 1Y, PRUM R. A TEY HUHY-TI e AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LFN]

 HHDY A FIY, PRUIR T S41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179865. 1
686340179866. 2
686340179867 3
686340179868. 4

Question Number : 67 Question Id : 68634045530 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T HYTET UgaeTid | Tehdl ITIHUTH, I g HRUEA|
Ffwuad . WAUFa UcTaTAANCA UAVEYT Figd faud |

FNOTH : cddded UcHalAauaA=degie UAU=gEd giafed faaa |
SO HYATeNDA Y Ugaiahedy e 3R Hga-
1. AfHHUF A DRI R = YT Y, BRUM R, A 5T AHHYTET Y AR PRI |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

[#5]

DY A T1Y, HRU R T 3RTY|

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179865. 1
686340179866. 2
686340179867. 3
686340179868. 4



Question Number : 68 Question Id : 68634045531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IHY: HUAGT Ueadd | Tehd HHBAAH, JU J HRUTHA|
FHFUAA | AE: IO dged TRTd |

FROT R : 3EUCHE: REieda=acaiiega ufEecad |

UL HAATAIRA HY: dgafadeny 3Had 3o [Bgd-

1. 3fHHY- A DRI R I IHT Y, PRUM R, A T HHDYUT 1Y oI HRIfd |

| )

- HIUSHY A DR R I T F1Y foor] DRUM R. A SHH S HHYT FIe 7 SRHA] BT |

[#5]

DY A T1Y, HRU R T 3RTY|

=

- HIUHYTH A 1Y, fob=] PRUI R Y|

Options :

686340179869. 1
686340179870. 2
686340179871. 3
686340179872. 4

Question Number : 68 Question Id : 68634045531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
Ty WEd: [RUEd aged TR |
FNOT R : 3goOcHgy: Roafamiar=Teanced degcand |
SUT HUATIhA HY: Ugafaeedy sfadd 3ol adgd-
1. 3{UHYH A DRI R 9 IHY 1Y, PRUM R. A T HUHYT e SURH] BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

L]

DY A F1Y, DRUR T 3RATY |

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179869. 1
686340179870. 2
686340179871. 3
686340179872. 4

Question Number : 68 Question Id : 68634045531 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
HY: HUAGT UgaAEd | Thd FTHGUAH, 3R g FROEA)
FffFyee . wEd: gEued aged TR |
FROT R : 3gaUcug: Fouafdrdar=aeaiesgan uffiacard |

3T HAATAIRA FY: Ugafadeny 3HaH a8 [Bgd-

1. 3{UHYH A DRI R 9 IHY 1Y, PRUM R. A T HUHYT e SURH] BRI |

| )

- HIUSHY A DR R I T F1Y foor] DRUM R. A SHH S HHYT FIe 7 SRHA] BT |

L]

DY A F1Y, DRUR T 3RATY |

=

- HIUHYTH A 1Y, fob=] PRUI R Y|

Options :

686340179869. 1
686340179870. 2
686340179871. 3
686340179872. 4

Question Number : 69 Question Id : 68634045532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
FFYRR | WSO SR duaedaR;: ITATAEET |
FNOTH : ATEGIATTATAT: TGATHIAT URRcdA A |
ST HUATCNPT 314 UeHRisedy 3fide 3u Regd-
1. HMUHYH A DRUI R 9 IHT 1Y, PRUM R. A TEY HUHY-TI e AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LFN]

 HHDY A FIY, PRUIR T S41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179873. 1
686340179874. 2
686340179875. 3
686340179876. 4

Question Number : 69 Question Id : 68634045532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
FFIRH | WO AR duaedIIR: AR |
FNOTH : ATEGIATTATAT: TGATHIAT URRcdA A |
ST HUATCNPT 314 UeHRisedy 3fide 3u Regd-
1. HUHYH A DRI R 9 IHY 1Y, PRUM R. A THY HUHY-TI e AT HRIfd |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LF]

DY A FIY, PRUIR T SM41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179873. 1
686340179874. 2
686340179875. 3
686340179876. 4

Question Number : 69 Question Id : 68634045532 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUAGT UghAed | Tha ATHGUTH, 3R g FROTA|

FiwyaH | WAoo HakRaauTeduR: 3ndtHEEET |

FHUTH : e HITGATIT: ATYATRIETAT U= adcaid |
IUYT HUATAIDA HY: Ugdiasedy sfEds 3o -
1. DY A PRU R ° FHT It PRUH R, A ST DY 1Y R PRI |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

(5]

DY A T1Y, HRUR T 3R71Y |

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179873. 1
686340179874. 2
686340179875. 3
686340179876. 4

Question Number : 70 Question Id : 68634045533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
FAFITA, : TAGAAT TAATATIAERIFITT AT UAT $7dfT |
FROH, : HEed  TeoeddARee e eREI=aaaeerinaeeerda |
SUh HUATeD IY: Ugaiadedy 3fde 3o &ga-
1. HUHYH A DRI R 9 IHY 1Y, PRUM R. A THY HUHY-TI e AT HRIfd |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LF]

DY A FIY, PRUIR T SM41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179877. 1
686340179878. 2
686340179879. 3
686340179880. 4

Question Number : 70 Question Id : 68634045533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3T HYTET UgaeTid | Tehdl ITIHUTH, I g HRUEA|
FflFwaH ARG JYAREAGIIERIGICT A UAT Hafd |

FRUIH : Ecd g Hodlaledaee e e U@ caaa o thdigerdd |
IUYT HUATAIDA HY: Ugdiasedy sfEds 3o -
1. 3fHHY- A DRI R I IHT Y, PRUM R, A T HHDYT 1Y oI PRI |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

(5]

DY A T1Y, HRUR T 3R71Y |

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179877. 1
686340179878. 2
686340179879. 3
686340179880. 4

Question Number : 70 Question Id : 68634045533 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
FAFITA, : TAGAAT TAATATIAERIFITT AT UAT $7dfT |
FROH, : HEed  TeoeddARee e eREI=aaaeerinaeeerda |
SUh HUATeD IY: Ugaiadedy 3fde 3o &ga-
1. HUHYH A DRI R 9 IHY 1Y, PRUM R. A THY HUHY-TI e AT HRIfd |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

LF]

DY A FIY, PRUIR T SM41Y|

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179877. 1
686340179878. 2
686340179879. 3
686340179880. 4

Question Number : 71 Question Id : 68634045534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUAGT UghAed | Tha ATHGUTH, 3R g FROTA|

Fhww=H | oRd-Fe-de-arge: oo aEen: g |

FNOTH | UcHaTUATE quiddiUeleHld |
U HYUATAIDA IY: Ugaiddedy 3REas st Rgd-
1. 3fHHY- A DRI R I IHT Y, PRUM R, A T HHDYT 1Y oI PRI |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

(5]

DY A T1Y, HRUR T 3R71Y |

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179881. 1
686340179882. 2
686340179883. 3
686340179884. 4

Question Number : 71 Question Id : 68634045534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
=R | ofd-Se-dSarge: aeaEfg Felen: qaged |
FROTH, | UcHaTWA0d JudaIgeleHrd |
ST FUADT I UeaRiPely e 3a¢ Riga-
1. HUHYH A DRUI R 9 FHY 1Y, PRUM R. A T HUHYT FIe AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

L]

 HfHPYT A F1Y, DRUR T 3RATY |

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179881. 1
686340179882. 2
686340179883. 3
686340179884. 4

Question Number : 71 Question Id : 68634045534 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T HYTET UgaeTid | Tehdl ITIHUTH, I g HRUEA|
Fhww=H | oRd-Fe-de-arge: oo aEen: g |

FNOTH | UcHaTUATE quiddiUeleHld |
U HYUATAIDA IY: Ugaiddedy 3REas st Rgd-
1. 3HHY A DRI R I IHT 1Y, PRUM R, A TIH HHHYT 1Y oI HRIfd |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

[#5]

 HfHDYT A T1Y, BRUR T 3R71Y |

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179881. 1
686340179882. 2
686340179883. 3
686340179884. 4

Question Number : 72 Question Id : 68634045535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
AfhwaeR  Soa: Avacgatiaa: wdgdfea |
FROH, | TeT WFEHAT HECHAATGATTATT AT |
ST HUATCNPT 314 UeHRisedy 3fide 3u Regd-
1. HUHYH A DRUI R 9 FHY 1Y, PRUM R. A T HUHYT FIe AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

L]

 HfHPYT A F1Y, DRUR T 3RATY |

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179885. 1
686340179886. 2
686340179887. 3
686340179888. 4

Question Number : 72 Question Id : 68634045535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
I HYAGY UEaa Rl Tehel ITNHUSTH, W T HROTA|
Fhwaae | g FrgcoRifoe: edgdfea |
FROH, : Gca diFgHaT FEGaAdEaa@AT 40 |
ST HUATARR HY: UEarIeedy SHae 3% fg-
1. 3HHY A DRI R I IHT 1Y, PRUM R, A TIH HHHYT 1Y oI HRIfd |

| )

HIUHYT A DRI R 9 Y F1Y foor] DRUM R. A U HHYT FIef 7 oA BRI |

[#5]

 HfHDYT A T1Y, BRUR T 3R71Y |

=

. HIUHYTH A 3E1Y, fob=] DRUI R 1|

Options :

686340179885. 1
686340179886. 2
686340179887. 3
686340179888. 4

Question Number : 72 Question Id : 68634045535 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I HUAGY Ut el | Tehdl THBAAH, W g HRUTA|
AfhwaeR  Soa: Avacgatiaa: wdgdfea |
FROA | H60 SFeHT FEEHAATEIIEAT A |
SUT HUATIhA HY: Ugafaeedy sfadd 3ol adgd-
1. HUHYH A DRUI R 9 FHY 1Y, PRUM R. A T HUHYT FIe AT BRI |

[

3y A DRI R 9 IHT A1y fob] DRUM R, A T THHYTRI HIE 7 SR BHRIfd|

L]

 HfHPYT A F1Y, DRUR T 3RATY |

=Y

3D UH A 3/, fb] HRUI R TIY|

Options :

686340179885. 1
686340179886. 2
686340179887. 3
686340179888. 4

Question Number : 73 Question Id : 68634045536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faoe:

B. UHURH:

C. Prargaiey:
D. 3Rrg:

E. 3H®I-ad:

HY: UeHiasmeuy sRdER FRgd-

1.D.AE.B.C
22A. 1, C.B,E
3 EEACB.D
4. D.E C,B.A

Options :

686340179889. 1

686340179890. 2

686340179891. 3
686340179892. 4

Question Number : 73 Question Id : 68634045536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

fafyTgddara g™l F=gurenH f&d -

A fovs:

B. HHIUEH:

C. BIATGaIiey:
D. H¥s:

E. 3@Id:

1.D,A.E. B, C
2.AD,C B E
I EACBD
4. D.E.C.B.A

Options :

686340179889. 1
686340179890. 2
686340179891. 3
686340179892. 4

Question Number : 73 Question Id : 68634045536 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A faoe:

B. UHIURH:

C. Prargaiey:
D. 3Rrg:

E. 3H®I-ad:

3T Uedidshedy Sfadeey -

1.DLAE B, C

| )

LA A BE
3.3 EA C.B,D
4. D.E C.B.A

Options :

686340179889. 1
686340179890. 2
686340179891. 3
686340179892. 4



Question Number : 74 Question Id : 68634045537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A HT:
B' Y
C. PpIct-
D. HIHT
E. HIB[H]:

HY: UeHiasmeuy sRdER FRgd-
LEADCE
2EDC.BA
3 EC.B. DA
4. D.E C,B.A

Options :

686340179893. 1
686340179894. 2
686340179895. 3
686340179896. 4

Question Number : 74 Question Id : 68634045537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aRifpIadgeanl H -

3Y: Uedidseuy SfEdeay Fed-

Lo AT G B

| )

LB D E B A
3BEC B DA
4.D,E.C.B.A

Options :
686340179893. 1



686340179894. 2
686340179895. 3
686340179896. 4

Question Number : 74 Question Id : 68634045537 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

aiepledgaanl oH -

1L.EATLC,B
2.EED.C.B.A
JE.C.B.D.A
4ADEC. B A

Options :

686340179893. 1
686340179894. 2
686340179895. 3
686340179896. 4

Question Number : 75 Question Id : 68634045538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IY: Ugdfasmeuy 3Rdam Regd-

LLABD,E.C

[

AGB T E
3.A; DB, C.E
4. A D.B.EC

Options :

686340179897.
686340179898.
686340179899.
686340179900.

AW N —

Question Number : 75 Question Id : 68634045538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, 3ffgar
B. 3&gq

C
D. dcdH
E

FY: Ugaldwely 3w Hegd-

LLABD,E.C

| )

.A.B,C.D.E
3.A; DB, C.E
4. A D.B.E.C

Options :

686340179897.
686340179898.
686340179899.
686340179900.

AW N —



Question Number : 75 Question Id : 68634045538 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A, 3ifgan
B. KTy
C. SEEy
D. ¥
E. 3URUsE:

FY: Ugaldmely 3EdHH Rgd-

LABDE.C
288 00D E
JAD.B.C.E
4 A D.B.EC
Options :
686340179897. 1
686340179898. 2

686340179899. 3
686340179900. 4

Question Number : 76 Question Id : 68634045539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

A, wgggoTy

B. =

C. sceigors,

E. swrg7oag

FY: ugaldwely sEdAH Rgd-
1.A.B.C.D. E
2.C,A D EB
3.A,C,B,DE

4.C, A E. D, B



Options :

686340179901. 1
686340179902. 2
686340179903. 3
686340179904. 4

Question Number : 76 Question Id : 68634045539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A sasTom
B. ==
C. seaigurs

D. wamors

Options :

686340179901.
686340179902.
686340179903.
686340179904.

AW N —

Question Number : 76 Question Id : 68634045539 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A, wgagor

B. s

C. seaigurs

D. wamors

E. srgsua=
1. A8 0T E
2.C, A D E.B
3A.C.B. D E
4. C, A E DB

Options :

686340179901. 1
686340179902. 2
686340179903. 3
686340179904. 4

Question Number : 77 Question Id : 68634045540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHTeda¥ g aw@Hl ®H -

A. 3{uilg:
B. Gila:
C. gax:
D. @%[:
E. H¥Ha:

3T Uedidshedy Sfadeey -

1.B.A.D.C.E

2B.A.EDC

3.B.C.D.E.A

4.D.C.B.AE
Options :

686340179905. 1
686340179906. 2



686340179907. 3
686340179908. 4

Question Number : 77 Question Id : 68634045540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JMgaeeA Tl HH -

A. 3{oilg:
B. Sila:
C. Fax:
D. §%:
E. HHa:

3Y: UcHideeuy SfErdaar -

1B AD,CE

| )

. B:A B D C
3B CDEA
4.D,C.B.A.E

Options :

686340179905. 1
686340179906. 2
686340179907. 3
686340179908. 4

Question Number : 77 Question Id : 68634045540 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JHTeda¥ g aw@Hl ®H -

A. 3[uilg:
B. Gila:
C. gaz:
D. @%[:
E. HHa:

3T Uedidshedy Sfadeey -

1.B.A.D.C.E

2B.A.EDC

3.B.C.D.E.A

4.D.C.B.AE



Options :

686340179905. 1
686340179906. 2
686340179907. 3
686340179908. 4

Question Number : 78 Question Id : 68634045541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SlGaH Foradate: W=l gFiadl yafd | dui FRegored foga-

A, OERD=:
B. U
C. P4
D. fagm s
E

I

FY: ugalawely sEdAH Rga-

LB, ALC,D,E

| B]

.C.B.D.AE
3B DACE
4. C.B.A.D.E

Options :

686340179909. 1
686340179910. 2
686340179911. 3
686340179912. 4

Question Number : 78 Question Id : 68634045541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SlGaH Foradate: W=l gFiadl yafd | dui FRegored foga-

A, OG- RD=:
B. TUWHA:
C. P4
D. fagm s

E. G RIh4:

FY: ugalawely sEdAH Rga-
1B A C I E
2.C.B.D.A.E
3 B.DACE

4. C.B.A.D.E

Options :

686340179909. 1
686340179910. 2
686340179911. 3
686340179912. 4

Question Number : 78 Question Id : 68634045541 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
JlsaH FEdas: Wp: gFfad vafd | aui FRegursd fa-
A 9D

B. &=
C. TP A:
D. fagm s
E. Y R&p 2

F: ugadmeuy AW Hegd-

1.B.A.C.D.E

228 B, DACE
3B.D.AC.E
4. C.B.A.D.E

Options :

686340179909. 1
686340179910. 2
686340179911. 3
686340179912. 4



Question Number : 79 Question Id : 68634045542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATe TH

B. dHMET

C. YUY

D. gfc:

E. 91999

HY: UeHiddeuy sfHdeam Red-

1.D,A.C,E.B

BN € DB
3.E,D.B,C.A
4.D.A.E.C.B

Options :

686340179913. 1
686340179914. 2
686340179915. 3
686340179916. 4

Question Number : 79 Question Id : 68634045542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fagg

B. JHREAT
C. UHRUMRTH
D. yfc:

E. a0y

FY: ugalawely sEdAH Rga-
LD A CEB
2.B.A.C.D.E
3 EDB. C A
4. D.AE.C.B

Options :

686340179913. 1
686340179914. 2



686340179915. 3
686340179916. 4

Question Number : 79 Question Id : 68634045542 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gHa YR faysyid HEEmauHn- o -
A fogm

B. JHRE]
C. UhRURH
D. 4fd:
E. 91ggq

3Y: UcHideeuy SfErdaar -

LabDof OB

| )

.B.A.C.D.E
3E.D B CA
4. D, A E.C.B

Options :

686340179913. 1
686340179914. 2
686340179915. 3
686340179916. 4

Question Number : 80 Question Id : 68634045543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUTEIH Hed-

FUAA | : GEEY UcoaEIEg Ul g |
FUAH | : FiEgd gruen AfAfd avus w@ifEad |
UL FUASTET HToilchel HY: Wediaeedy Sfadas 3w =ed-

1. YA 1, U= 11 o 35T 61y

| )

U 1, U 11 7 SHIH ITY
3.%04 1 §1Y, Weg HYUASA 11 361Y
4. P 1 3Y, Weg U= 10 Y

Options :
686340179917. 1



686340179918. 2
686340179919. 3
686340179920. 4

Question Number : 80 Question Id : 68634045543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IY: HYAGTH HARd-
FUAHA | . OIS UCIIHIET UFAIREE: Tdgarn: |
FUAH | : FiEgd gruen AfAfd avus w@ifEad |
U FAATTTT HToilhed HU: Uedldeouy saass s Rgd-

1. YA 1, U= 11 o 35T 61y

[ B)

YA 1, Y I ° A IHATY
3.8 1 9Y, Weg A=A 11 3a1Y
4. U4 1 3EY, Weg &34 1 &Y

Options :

686340179917. 1
686340179918. 2
686340179919. 3
686340179920. 4

Question Number : 80 Question Id : 68634045543 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HU=EIS Afed-

FUAA | : GEEY UcoaEIEg Ul g |
FUaA || : g0 gEuEd AT aeus Tifead |
UL FUASTET HToilchel HY: Wediaeedy Sfadas 3w =ed-

1. YA [, HUSHA 11 =T I8 TY

| )

YU 1, HUSH 11 =T SIS HATY
3. %Y 1 AY, Weqg @A=e 11 3R/TY
4. HYA 1 3AY, Weg HU= 1T T1Y

Options :

686340179917. 1

686340179918. 2
686340179919. 3



686340179920. 4

Question Number : 81 Question Id : 68634045544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HUAGIH Hed-
FUAA | : AT HioA=: [Aeea withad |
Fu=H || FoetecaadHicad, Aecada |
ST HATEATT HTElhd 7Y Ugdfasely Sfadars 3ai (aed-
1. BYFH L HYTH I I IHT 1Y

2. DY I HUFH 1T 7 serre 3FTY

LFN]

CHYA T HIY, U] SYTH 11 1Y

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179921. 1
686340179922. 2
686340179923. 3
686340179924. 4

Question Number : 81 Question Id : 68634045544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HUTEIH Hed-
FUAA | 1 AT HcA: [A¥ca Tdifhad |

FuaR || @ Soetecaadiicas, Recaaa |

IUYT HUTEATT HIellhd HY: Ugdiasely Sfada#ss 3ai fa=d-
1. PYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

[#5]

CPYH 1 ITE, U PYTH 1T 3MTY
YA 1 T, U] PUH 11 11Y

=

Options :

686340179921. 1
686340179922. 2
686340179923. 3
686340179924. 4



Question Number : 81 Question Id : 68634045544 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IY: HUAGIH Hd-
FUAA | AT Hica=: e wdifnad |

FuaR || @ Soetecaadiicas, Recaaa |

UL HATGATT Tellehd 7Y: Ugaidsely sfaadad 3¢ fH9d-

1. PYTH L HYTH I 9 FHT 1Y

| )

U 1. HYTH 11 9 5372597 ST

CPYH 1 ITE, U PYTH 1T 3MTY
YA T HGTY, G HYH 11 |1Y

[#5]

=

Options :

686340179921. 1
686340179922. 2
686340179923. 3
686340179924. 4

Question Number : 82 Question Id : 68634045545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HUAGTH IRed-
FUAR | : 3iddeea Sa: AedavnarToed dded Hafa |
FUAA || : Feddeeded Saaniar g ded aeiufed dded Hafd |
ST HATEATT HTelhed JY: Ugatasedy Sfadase 3a¢ r<ed
1. BYTH L HYTH 11 9 THT 1Y

2. DY I HUFH 1T 7 serre 3FTY

Y 1 T8, IR PYUTH 11 SHTY

Y T TEY, IR PYUH 11 91Y

L]

=Y

Options :

686340179925. 1
686340179926. 2
686340179927. 3
686340179928. 4

Question Number : 82 Question Id : 68634045545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
HY: HYAGTH ART-
FUAH | : 3Gddeed Sia: Aedaunareoed dded Hafa |
FUAA || : Feddeeded Saaniar g ded aeiufed dded Hafd |

UL HATGATT Telleha JY: Ugaiamedy faddad 3¢ f9d

1. BYTH L HYTH 11 9 THT 1Y

| )

U 1. HYTH 11 9 5372597 ST

Y 1 T8, IR PYUTH 11 SHTY
YA T HGTY, G HYH 11 |1Y

L]

=

Options :

686340179925. 1
686340179926. 2
686340179927. 3
686340179928. 4

Question Number : 82 Question Id : 68634045545 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HY: HUAGIH Hed-
FUAA | : Aeddgled Sia: Aedaonaleoed dded Hafa |
FUAA | : 3eadeea=a Sfaafar g deaaviufd da= #afa |
ST HATEATT HTelhed JY: Ugatasedy Sfadase 3a¢ r<ed
1. PYTH L HYTH 11 I IHY 1Y

[

DY 1. DY 11 9 om0 ST

CHYA T HIY, U] SYTH 11 1Y

4. PYH T 1Y, R DY 11 T1Y

LFN]

Options :

686340179925. 1
686340179926. 2
686340179927. 3
686340179928. 4

Question Number : 83 Question Id : 68634045546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HUAGIH Hed-

FueH | diead sreafaeE Aegeat@iaea safa |

FUaA || : ugifae= amarag fe= #afa |

ST HUYTEIET HElha HY: Ugaiaaely 3fadan# o8 fHgd-
1. BYTH L FYTH I F IHY 1Y

[

DY 1. DY 11 9 om0 ST

LF]

 BYH 1 1Y, IR PUTH 11 SMTY

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179929. 1
686340179930. 2
686340179931. 3
686340179932. 4

Question Number : 83 Question Id : 68634045546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUTEIH Hed-

wueH | digad seafaa dAegeat@idea san |

i e

FaaA || ugkifasa aAmaryg o #ald |

IUYT HUTEATT HIellhd HY: Ugdiasely Sfada#ss 3ai fa=d-
1. BYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYA 1 1Y, IR PYTH 11 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179929. 1
686340179930. 2
686340179931. 3
686340179932. 4

Question Number : 83 Question Id : 68634045546 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HAAGIH,_ -

FueH | diead sreafaeE Aegeat@iaea safa |

HaaA || ugiiia=a JFAmARdg o #aid |

ST HUYTEIET HElha HY: Ugaiaaely 3fadan# o8 fHgd-
1. BYTH L FYTH I F IHY 1Y

[

DY 1. DY 11 9 om0 ST

LF]

 BYH 1 1Y, IR PUTH 11 SMTY

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179929. 1
686340179930. 2
686340179931. 3
686340179932. 4

Question Number : 84 Question Id : 68634045547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HAAGIH Hed-

A | A T UA: ﬂ@iiﬁ‘r Felde sfg THAEgEY TETed iy A= |
Fuad || : FogeHEgER: HIald H#Idd: AACaARIvRG HaaR 3id AREea: |
T HYFEIE HEha HY: Ugaldaedy SRdasd 3w R4l

1. BYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYA 1 1Y, IR PYTH 11 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179933. 1
686340179934. 2
686340179935. 3
686340179936. 4

Question Number : 84 Question Id : 68634045547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HAAGIH,_ -
FUAA | : THAG: TIT TH: UGHAT Felder $1d IAHarard Fafiare wafd THE==C: |
FUAA, || : HoGEEHIA: Hald Hhd: AFCARGUR JOaR 3id AREESE |
ST HYTEATT Tl IH: Ugaidsedy Sfadae 3w Rgdl

1. BYTH L HYTH I 9 IHY 1Y

[

DY 1. DY 11 9 om0 ST

LF]

 BYH 1 1Y, IR PUTH 11 SMTY

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179933. 1
686340179934. 2
686340179935. 3
686340179936. 4

Question Number : 84 Question Id : 68634045547 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HAAGIH Hed-

A | A T UA: ﬂ@iiﬁ‘r Felde sfg THAEgEY TETed iy A= |
Fuad || : FogeHEgER: HIald H#Idd: AACaARIvRG HaaR 3id AREea: |
T HYFEIE HEha HY: Ugaldaedy SRdasd 3w R4l

1. BYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYA 1 1Y, IR PYTH 11 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179933. 1
686340179934. 2
686340179935. 3
686340179936. 4

Question Number : 85 Question Id : 68634045548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HAAGIH,_ -
FUAA | | FATHAERA S Aag AT e AEEAH | Tl AECUATIIHIT TaeGaAdG Tada: |
FUAA | : 3THAET A 5T ahguEsR: |
ST HUYTEIET HElha HY: Ugaiaaely 3fadan# o8 fHgd-
L PYFH L HYTH I T IHT 1Y

[

DY 1. DY 11 9 om0 ST

LF]

 BYH 1 1Y, IR PUTH 11 SMTY

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179937. 1
686340179938. 2
686340179939. 3
686340179940. 4

Question Number : 85 Question Id : 68634045548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y HAAGIH Hed-

waaA | &Mml@mcuqﬂmmddad‘rﬁiﬁﬁ ATeg=lled | dehi0l AqUATTIHATT Tdleaddo Uhrh: |
FuadA || : g e 5fa ahaaEaR: |
IUYT HUTEATT HIellhd HY: Ugdiasely Sfada#ss 3ai fa=d-

1. PYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYH 1 I1Y, U PYTH 1T 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179937. 1
686340179938. 2
686340179939. 3
686340179940. 4

Question Number : 85 Question Id : 68634045548 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HY: HUAGIH Hed-
FUAA | | FATHAERA S Aag AT e AEEAH | Tl AECUATIIHIT TaeGaAdG Tada: |
FUAA | : 3THAET A 5T ahguEsR: |
ST HUYTEIET HElha HY: Ugaiaaely 3fadan# o8 fHgd-
1. PYTH L HYTH I T IHT T1Y

[

DY 1. DY 11 9 om0 ST

 BYH 1 1Y, IR PUTH 11 SMTY

Y T TEY, IR PYUH 11 91Y

LF]

=Y

Options :

686340179937. 1
686340179938. 2
686340179939. 3
686340179940. 4

Question Number : 86 Question Id : 68634045549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUTETH AEd

FUAA | 1 AR Aeg T UANeacd Aed |

FuaH | : AT ey FgAAdIdcd Faa |

IUYT HUTEATT HIElhd HY: Ugdiasely fadass 3a¢ H=d|
1. PYTH L HYTH I 9 FHT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYH 1 I1Y, U PYTH 1T 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179941. 1
686340179942. 2
686340179943. 3
686340179944. 4

Question Number : 86 Question Id : 68634045549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IY: HYAGIH HRd

FUAA | | AR Uee T YA cd Aed |

wuaH | : dARFEI eeTy FFFIEdIdcd F O |
ST HATEATT HIelhed 7Y Ugafaseuy Sfadans 3ai <ed|
1. BYTH L HYTH 11 9 THT 1Y

[

DY 1. DY 11 9 om0 ST

L]

Y 1 T8, IR PYUTH 11 SFTY

Y T TEY, IR PYUH 11 91Y

=Y

Options :

686340179941. 1
686340179942 2
686340179943. 3
686340179944. 4

Question Number : 86 Question Id : 68634045549 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HY: HUTETH AEd

FUAA | 1 AR Aeg T UANeacd Aed |

FuaH | : AT ey FgAAdIdcd Faa |

IUYT HUTEATT HIElhd HY: Ugdiasely fadass 3a¢ H=d|
1. PYTH L DYTH I I 3HT 1Y

| )

U 1 BYTH I1 9 5372597 SITY

 BYA 1 1Y, IR PYTH 11 3[1Y
YA 1 T, U] PUH 11 11Y

[#5]

=

Options :

686340179941. 1
686340179942 2
686340179943. 3
686340179944. 4

Question Number : 87 Question Id : 68634045550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FI-a- Yerdearen 9| ai--

A. SIGERH ey [d9R: faerd |

B. 3¥Y@m ez SRl fAfdd aad |

C. IHF-=aRI SR W0 Hfaurerd |

D. S-eR(- FEGR HigHN @ Agiehad |

E. TSRS gaEn: fAaaueER: SREResdl [aed |

FUEdA e us-HH = Aaa [gd-

1.®deH C.E. D
2. PdaH A.B. D
3. HATHA.E.C
4, PIIEB.C.E

Options :

686340179945. 1
686340179946. 2
686340179947. 3
686340179948. 4

Question Number : 87 Question Id : 68634045550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT FI-a- Yerdearen 9| ai--

A. SIGERH ey [d9R: faerd |

B. XN aeH HRU FHfde ad |

C. IHF-=aRI SR W0 Hfaurerd |

D. S-eR(- FEGR HigHN @ Agiehad |

E. TSRS gaEn: fAaaueER: SREResdl [aed |

FUEdA e us-HH = Aaa [gd-

1.®deH C.E. D
2. PAH A. B. D
3. HATHA.E.C
4, AU B. C.E

Options :

686340179945. 1
686340179946. 2
686340179947. 3
686340179948. 4



Question Number : 87 Question Id : 68634045550 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SHeETaIRY D= Jeadoarent w1 -

A. SigesH YeeyHuRY faar: faed |

B. dRIN®eRH @R Ay aud |

C. IR Sl TU Hfaurerd |

D. SaR SRGR HigmN @ Argiehad |

E. TONRIGS TaEE: SR AEIeER: SIeHResal [ged |

HeE R TR e
1.$aaH C.E.D
2. Bda A, B. D
3. PAUHA.E.C

4, I B, C.E

Options :

686340179945. 1
686340179946. 2
686340179947. 3
686340179948. 4

Question Number : 88 Question Id : 68634045551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| o IR s, [

SHeETaIRY D= Jeadoarent w1 -

[ - . %

A, ARG IRRGUY gdlgdulaaes faed

B. SREHEERE frurey fafRwrgaufued fded |

C. SHETERR SUHGH Sfgdiisaiadred faed |

D. IRATEERR T Sd: Fed aaeITaafd |

E. TR aTeREuRg S Heg s S4-dd sgawiTiafd |
HUETAddheusd: A= -

1.HaaH A, C.D

2. $qa B, D.E

3. DA B. A E

4, PAAHC, D, E




Options :

686340179949. 1
686340179950. 2
686340179951. 3
686340179952. 4

Question Number : 88 Question Id : 68634045551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeETaTRY H1i-ra- Fe1dsargnt af=1| -

A, ARG ARRGHS gdlgdufaued faed |
B. RATERE s g aufaureds faerd |
C. FHEEE UM SHgafaaragidares faed |

D. SRAF<HEET H<HTY Wi Tdd ageIIaafd |
E. HeNaTexMURI TSI §%3dd aeiToafd |

IFUTAATdheUFT: T =d-
1.®deH A, C,D
2. PdaH B, D. E
3. HAUHB. A E
4. PAAHC, D, E

Options :

686340179949. 1
686340179950. 2
686340179951. 3
686340179952. 4

Question Number : 88 Question Id : 68634045551 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT FI-a- Yerdearen 9| ai--

A. SEEYHE YRRGHS galgadiadred faed |
B. $RATERE s fafRergaufaureds faerd |
C. SHAMERR U sgafdaradidaee faed |

D. SRAF<HEET H<HTY Wi Tdd ageIIaafd |
E. HEYaIexgURy SOTHTH S4Rdd Iaioald |

IFUTAATdheUFT: T =d-
1.®deH A, C.D
2. PdaH B, D. E
3. HAUHB.A.E
4. PAAHC, D, E

Options :

686340179949. 1
686340179950. 2
686340179951. 3
686340179952. 4

Question Number : 89 Question Id : 68634045552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qREIRITeE S §q Yafd | To: -

A, JUIGHUBUI]

B. JaOR{@THE
C. STURIIEUNq

D. Hl&mq

E. SRUTYTATT

IFUTAATdheUFT: T =d-
1.®deH C. D, E
2. PAAHD. C. B
3. HATHC. D. A
4, PAAHA.B.E

Options :

686340179953. 1
686340179954. 2
686340179955. 3
686340179956. 4



Question Number : 89 Question Id : 68634045552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRHANRA BT ¥ Hafd | Tdag: -

A' E E ~
B. J4OR@THIEd
C. SUURIIEUI

D. Hi&mTd

E. SHROTHIET

IHUTTATdheusy: FHE A =gd-
1.HaaH C. D, E
2. $aaD. C, B
3. AU C. D, A
4, PAA A, B.E

Options :

686340179953. 1
686340179954. 2
686340179955. 3
686340179956. 4

Question Number : 89 Question Id : 68634045552 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HRHANRA BT ¥ Hafd | Tdag: -

A. SUIGHYGUI
B. HaRaTHIaTq
C. SUURIIEUI

D. H&mq

E. SRUTHTAT]

IHUTTATdheusy: FHE A =gd-
1.HaaH C. D, E
2. AU D, C. B
3. AU C. D, A
4, PAAT A, B.E




Options :

686340179953. 1
686340179954. 2
686340179955. 3
686340179956. 4

Question Number : 90 Question Id : 68634045553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A. Y
B. Iaq
C. %
D. USRIGH
E. SUP™HH

1. Hauaq A, C
2. HAUHD.E
3. HAUH A, B
4, HATHA. D

Options :

686340179957. 1
686340179958. 2
686340179959. 3
686340179960. 4

Question Number : 90 Question Id : 68634045553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A @Y
B. Iaq

C. T2
D. UhIIHH
E. SUPR{®H
HUEAATaheUs: HAEAea Hgd-
1. HAaH A, C
2. HAUHD.E
3. BAU A, B

4, HATHA. D

Options :

686340179957. 1
686340179958. 2
686340179959. 3
686340179960. 4

Question Number : 90 Question Id : 68634045553 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YR Itd Hdld -

A 99
B. 9dY

C.T%

D. USRS

E. SUPR{@H

1. HaaH A, C
. PAI D, E
3. PAUH A, B

4, BATHA. D

| )

Options :

686340179957. 1
686340179958. 2
686340179959. 3



686340179960. 4

Question Number : 91 Question Id : 68634045554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A fgfas wafd 1T -

ATﬂﬂﬁfmm
c%mmﬁmqﬂ
D. Y=Y

E. SOTH

R TR -
1. Hauaq A, C
2. $dTH B. D
3. HAUHD. E
4, BATH B, E

Options :

686340179961. 1
686340179962. 2
686340179963. 3
686340179964. 4

Question Number : 91 Question Id : 68634045554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

37HT fefase wafa | gur-

ATﬂﬂﬁfmm
c%mﬁymm:
D. T&TIHIH

E. STATHHT

IHUTTATdheusy: FHE AT THgd-
1. HaaH A, C
. HAad B. D

-

3. FAUHD. E

.

4, A B, E

| )



Options :

686340179961. 1
686340179962. 2
686340179963. 3
686340179964. 4

Question Number : 91 Question Id : 68634045554 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

37HT fefase wafa | gur-

A. TRIIFAAR
B. E’Iﬁ'[ﬂﬂ H
C. WYHHA
D. G&T{HIHH

E. AMHHHH

1. HATH A, C
2. $de B, D
3. PAUHD. E
4, A B, E

Options :

686340179961. 1
686340179962. 2
686340179963. 3
686340179964. 4

Question Number : 92 Question Id : 68634045555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ST eg - S -

A Y
B. Ug:
C. |y

D. fergH

E. P

1.HAaHA, D
2. $duq B, E
3.$ae C, D
4, HAAHD.E

Options :

686340179965. 1
686340179966. 2
686340179967. 3
686340179968. 4

Question Number : 92 Question Id : 68634045555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ed §I%4d -

A TTEEH
B. U&f:
C. g1y

D. feTgH

E. EFI=E

1. Haaq A, D
. Pae B, E
3. $aaH C, D

4, BAAI D, E

| )

Options :

686340179965. 1
686340179966. 2
686340179967. 3



686340179968. 4

Question Number : 92 Question Id : 68634045555 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST eg - S -

A HTYH

B. U&f:

C. g1y

D. fergH

E,EQ -

HUEAATaheUs: HAEAea Hgd-

1. Haaq A, D

2. HATH B, E

3. $dHC, D

4, HAAHD.E

Options :

686340179965. 1
686340179966. 2
686340179967. 3
686340179968. 4

Question Number : 93 Question Id : 68634045556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Y G Fiw-

A. Siges 1 snfiiees afmoad |

B, AR seHaaraie shafafad ¥afd |
c. Tefieumigar diaiges: wWifsad |

D. Jaglg: SHd Hafd |

E. IHF<dg - aWEHd WS |

IFUTAATdheUFT: T =d-
1.HdeH A, B, C
2. PAUHB.C.E
3. HAUH C. D.E
4, I B, D. E

Options :

686340179969. 1
686340179970. 2
686340179971. 3
686340179972. 4

Question Number : 93 Question Id : 68634045556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y G Fiw-

A. Siges 1 snf&ieesA afmoad |

B. AT seNarane safaad ¥afd |
c. Tefieumigar diaiges: wWifsad |

D. Jaglg: SHd Hafd |

E. A< aWGHd WS |

IFUTAATdheUFT: T =d-
1.HdeH A, B, C
2. PAUHB.C.E
3. HAUH C. D.E
4, BdaH B, D. E

Options :

686340179969. 1
686340179970. 2
686340179971. 3
686340179972. 4



Question Number : 93 Question Id : 68634045556 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y YGTdBare gi-

A. SigeRy nfeezia gfomuad |

B. [aRIvIgand SRyl siaiafdsl yafd |
C. uiieRuisrar dimige: Wifsad |

D. FaRIfS: SAd Hafd |

E. IMF-5dgTdl Ward el |

IHUTTATdheusy: FHE A =gd-
1. PaaHA.B. C
2. PIIB. C.E
3. PaUH C. D, E
4, $da B, D, E

Options :

686340179969. 1
686340179970. 2
686340179971. 3
686340179972. 4

Question Number : 94 Question Id : 68634045557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

T I T I
I GIGEL 1. [ooTe:
B. [H&aH 1L i@t
C. [qnsm 1L A&
D. [fauma: V. [EeaewE

SeETIdPedy e IR [ d-
1. AL B-IV. C-II, D-III
2. A-IIL, B-I1, C-1V, D-1
3. A-IV, B-IIL, C-1, D-II
4. A-1I, B-1, C-11I, D-IV

Options :



686340179973. 1
686340179974. 2
686340179975. 3
686340179976. 4

Question Number : 94 Question Id : 68634045557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I L, Gl 11 9 IR 1Y Hed-

Gl T I
[GIGE 1 [gHI:

THEEH |1
HTHTHH 1L [RigrsT

fasra: IV [G5aewd

HUEdH ey 1Y IR &d-

REE

1. A-I. B-IV. C-II. D-ITI

| ]

AL B-ITL C-IV, D-I
3. A-IV. B-IIL. C-1. D-II
4. A-IL B-I. C-III, D-IV

Options :

686340179973. 1
686340179974. 2
686340179975. 3
686340179976. 4

Question Number : 94 Question Id : 68634045557 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1, Yol 11 9 URER 1Y Heidd-

T 1 T 1
IGIGE I [GHT:

R
T 111, Rl

fayra: IV |g5aigwd

YA ey 1Y IR &d-

ofolw[>

1. A-I. B-IV. C-II. D-III
2. A-IILL B-I1. C-IV. D-1
3. A-IV. B-III. C-1. D-II
4. A-IL. B-1. C-11I. D-IV

Options :

686340179973. 1

686340179974. 2

686340179975. 3
686340179976. 4

Question Number : 95 Question Id : 68634045558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 Gl 11 9 IRER 91 B d-
il I
ERICIG

A I [3Ha4RY JHH]
B. [gHTqug: il EEIGI]

C. [0H 111 [7egH

D [g=m: IV, [gUTRTH

HUETd edy 1Y IR &d-
1. A-II. B-IIL C-IV. D-I
2. A-1, B-II, C-III, D-IV
3. A-IV. B-IIL. C-1. D-II
4, A-IIL B-IL C-IV. D-I
Options :
686340179977. 1
686340179978. 2

686340179979. 3
686340179980. 4



Question Number : 95 Question Id : 68634045558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

T I Tt I
A [JHIEH I |39 JH
B. [garfaun: 0. [JHrdn
C. [ 111 [J55H
D. [gzm: IV. [aursH

SeETIdPedy e IR [ d-
1. A-IL, B-III, C-IV, D-I
2. A-L, B-I, C-IIL, D-IV
3. A-IV, B-IIL, C-I, D-II
4. A-TIT, B-II, C-IV, D-I
Options :
686340179977. 1
686340179978. 2

686340179979. 3
686340179980. 4

Question Number : 95 Question Id : 68634045558 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl 1. Y& 11 9 ISR 1Y Hedd-
Seil e 1
ERICIE

A I |39 JH
B. [gaifaun: [N PESI I

C. [JH1 111 [THTH
D_[g=m: IV. [FURIFHH

S IdPpedy AT IR fd-
1. A-IL B-III, C-IV. D-I
2. A-1, B-II, C-TIL, D-IV
3. A-IV, B-IIL, C-I, D-II
4. A-TIT, B-IL, C-TV, D-I
Options :

686340179977. 1
686340179978. 2



686340179979. 3
686340179980. 4

Question Number : 96 Question Id : 68634045559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

T 1 T 1
A [5ITOT: 1. [FEraEIEy
B. [@® 1. [&f:
C. [ 11 [T TR
D. |55 IV, [FRURE Y

S IdPpedy AT IR fd-
1. A-L B-IL. C-IIL. D-IV
2. A-TII, B-1, C-IV, D-II
3. A-II, B-IIL, C-I, D-IV
4. A-TIT, B-IL, C-1, D-IV
Options :
686340179981, 1
686340179982, 2

686340179983. 3
686340179984. 4

Question Number : 96 Question Id : 68634045559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 1 T 11 9 IRER 1Y Aagd-
T 1 T

A [5ITOT I [eiRaiERIuy

B [a® I [@&H:

C. [ 111 [rerefg=mT

D. [51FH TV [SRUMEIEHH

YA ey 1Y IR &d-
1. A-L B-IL. C-IIL, D-IV
2. A-IIL B-L. C-IV. D-II
3. A-II B-IIL, C-1. D-IV

4. A-III, B-II. C-1. D-IV



Options :

686340179981. 1
686340179982. 2
686340179983. 3
686340179984. 4

Question Number : 96 Question Id : 68634045559 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1, Yol 11 9 URER 1Y Heidd-

T 1 T
A [ETO: I [eRaeRy
B. [a® 1. [saf=:
C. [ 1L TR R
D [siEq IV [FRUMEEEH

HULAId P Uy 18 J [<-d-
1. A-I. B-II. C-III. D-IV
2. A-IILL B-1. C-IV. D-II
3. A-IL B-III. C-1. D-IV
4. A-III. B-II. C-I. D-IV
Options :
686340179981. 1
686340179982. 2

686340179983. 3
686340179984. 4

Question Number : 97 Question Id : 68634045560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1, Yol 11 9 URER 1Y Heidd-

AT 1 T 1
A [TRE: FEEHT) | L jE:
B. [SRIETH 1L RI:
C. [HaaR: (@A) 1L [agor 619
D. [aféoma—Hq IV. [GaHi feq

YA ey 1Y IR &d-
1. A-L B-IL C-IIL DIV
2, A-IV, B-IIL C-II. D-1I
3. A-III, B-I, C-IV, DI
4, A-IL B-IIL C-L D-IV
Options :
686340179985. 1
686340179986. 2

686340179987. 3
686340179988. 4

Question Number : 97 Question Id : 68634045560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 Gl 11 9 IRER 91 B d-

GGl I
A (AEEE) | L |erE:
SO UTH 1.

SUEE
e (AT 11 [T e
HEEIEEE] IV [gaFi féag

ofofw»

HUETd edy 1Y IR &d-
1. A-L B-I. C-IIL DIV
2, A-IV, B-IIL C-II. D-1I
3. A-III, B-I, C-IV, D-II
4, A-IL B-IIL C-L D-IV
Options :
686340179985 1
686340179986. 2

686340179987. 3
686340179988. 4



Question Number : 97 Question Id : 68634045560 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

Tt 1 T I
A [FREETEEEE) | LR
B. [STRMEUH 1. RIf3:
C. [Haoi: (FIHE) 1L [oqor feTq
D. [GI&OmaTH IV. [&ar T feTq

SeETIdPedy e IR [ d-
1. A-I. B-IL C-IIL. D-IV
2. A-IV, B-IIL C-I1. D-I
3. AL B-L C-IV, D-II
4. A-II, B-TII, C-1, D-IV

Options :

686340179985. 1
686340179986. 2
686340179987. 3
686340179988. 4

Question Number : 98 Question Id : 68634045561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl 1. Y& 11 9 ISR 1Y Hedd-
Geil Geill

[meftriam: | 1 [memn
Mefioune: | 1. [aieray
meiuasie: | 1L R
mefieua: | 1v. [aFrEg

o|o|w|e

S IdPpedy AT IR fd-
1. A-IIL, B-L, C-IV. D-I
2 AT B O T
3. A-III, B-II, C-IV, D-I
4. A-TIT, B-IV, C-1, D-II
Options :

6863401799809. 1
686340179990. 2



686340179991. 3
686340179992. 4

Question Number : 98 Question Id : 68634045561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl 1. Y& 11 9 ISR 1Y Hedd-
Geil Geill

_ [EEiETaE: 1 [qeeEEH
Mefioune: | 1. [aieray
Aeudsie: | 1L R
mefieua: | 1v. [aFrEg

o|o|w|e

S IdPpedy AT IR fd-
1. A-IIL, B-L, C-IV, D-II
1 1 B = 1B b & )
3. A-IIL, B-11, C-1V, D-I
4. A-TIT, B-IV, C-1, D-II

Options :

686340179989. 1
686340179990. 2
686340179991. 3
686340179992. 4

Question Number : 98 Question Id : 68634045561 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
a1 1, Yol 11 9 URER 1Y Heidd-

T 1 T
Hefdian: W B e
mefeue: | 1 [aRersEm
Aeudsier: | 1L [RIEs
Hefliafua: |1V [@FREg

ofofw>

YA ey 1Y IR &d-
1. A-IIL, B-I. C-IV. D-II
2. A-I1, B-L, C-II, D-IV
3. A-III, B-II, C-IV, D-I

4. A-III, B-IV. C-I, D-II



Options :

686340179989. 1
686340179990. 2
686340179991. 3
686340179992. 4

Question Number : 99 Question Id : 68634045562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1, Yol 11 9 URER 1Y Heidd-

T 1 T I
meleeRE:| 1 [FEdmaeEay
Helut: | I [Slacsaq

EESIRE 111 [§&r9aH
TS : V. [HEEEH

YA ey 1Y IR &d-

ofofw>

1. A-IV. B-III. C-II. D-I

| o

AT, B-1. C-II. D-IV
3. A-IIL B-1I. C-1. D-IV
4. A-III, B-IV. C-I, D-II

Options :

686340179993. 1
686340179994. 2
686340179995. 3
686340179996. 4

Question Number : 99 Question Id : 68634045562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1, Yol 11 9 URER 1Y Heidd-

T 1 T
meleeRE:| 1 [FEdmaeEay
Helut: | I [Slacsaq

EESIRE 111 [§&r9aH
RIERE IV. [HHEREH

YA ey 1Y IR &d-

ofofw>

1. A-IV. B-III. C-II. D-I
2. A-IL B-1. C-I1. D-IV
3. A-IIL B-1I. C-1. D-IV
4. A-IIL B-IV. C-I. D-II

Options :

686340179993. 1
686340179994. 2
686340179995. 3
686340179996. 4

Question Number : 99 Question Id : 68634045562 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I L Gl 11 9 IR 1Y Herd-

Gl T I
meleeRE:| 1 [FEdmaeEay
TeaH: | I [SlaesH
gedid: 1L [Ferey
TS V. [HEEEH

HUEdHely 1Y I &d-

ofolw[»

1. A-TV. B-III. C-II. D-1
2. A-IIL B-I. C-II. D-IV
3. A-III. B-I1, C-1. D-IV
4, A-III. B-IV. C-1. D-II

Options :

686340179993. 1

686340179994. 2

686340179995. 3
686340179996. 4



Question Number : 100 Question Id : 68634045563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

1 T I
A |3gddaeae [ [oRumHaR:
B. [giegeziHy 1L [
C. [a=ifSmezqY |11 [idadans:
D. [oHaEHq IV, [ReaErs:

SeETIdPedy e IR [ d-
1. A-IIL, B-IV. C-II, D-I
2. A-TIL, B-1, C-IV, D-II
3. A-III, B-II, C-IV, D-I
4, A-I. B-IV. C-III, D-II
Options :
686340179997. 1
686340179998. 2

686340179999. 3
686340180000. 4

Question Number : 100 Question Id : 68634045563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

T 1 = 10
A [sfgddarderiaH] I [aRomHare:
B. [giegeziy 1L [
C. [au@erHg | UL [faaddre:
D. [sia@HH IV. [sReare:

S IdPpedy AT IR fd-
1. A-IIL, B-IV, C-II. D-I
2. A-TII, B-1, C-IV, D-II
3. A-III, B-II, C-IV, D-I
4. A-1, B-IV, C-II1, D-II
Options :

686340179997. 1
686340179998. 2



686340179999. 3
686340180000. 4

Question Number : 100 Question Id : 68634045563 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1. Y& 11 9 ISR 1Y Hedd-

T 1 = 10
A [sfgddarderiaH] I [aRomHare:
B. [giegeziy 1L [
C. [au@erHg | UL [faaddre:
D. [sia@HH IV. [sReare:

S IdPpedy AT IR fd-

1. A-IIIL, B-IV. C-II. D-I

|

AL B-1L C-IV. D-IT
3. A-IIL, B-1I. C-IV. D-I
4. A-1. B-IV, C-III. D-II

Options :

686340179997. 1
686340179998. 2
686340179999. 3
686340180000. 4



